
Sujets	
  de	
  bac	
  possibles	
  :	
  
	
  
Chapitre	
  1	
  :	
  Les	
  sources	
  de	
  la	
  croissance	
  
	
  
Dissertation	
  (Dossier	
  de	
  4	
  documents	
  factuels)	
  
-­‐	
  Comment	
  peut-­‐on	
  expliquer	
  le	
  différentiel	
  de	
  croissance	
  récent	
  entre	
  la	
  France	
  et	
  les	
  Etats-­‐Unis	
  ?	
  (Bordas,	
  
p39)	
  
-­‐	
  Comment	
  expliquer	
  l’importance	
  de	
  l’innovation	
  dans	
  la	
  croissance	
  économique	
  ?	
  (Bordas,	
  p391)	
  
-­‐	
  En	
  quoi	
  le	
  PIB	
  est-­‐il	
  un	
  indicateur	
  pertinent	
  pour	
  rendre	
  compte	
  de	
  l’état	
  économique	
  d’un	
  pays	
  ?	
  (Bordas,	
  
p392)	
  
-­‐	
  Dans	
  quelle	
  mesure	
  le	
  progrès	
  technique	
  est-­‐il	
  la	
  source	
  essentielle	
  de	
  la	
  croissance	
  économique	
  ?	
  (Magnard,	
  
p110)	
  
-­‐	
  Quels	
  rôles	
  les	
  institutions	
  jouent-­‐elles	
  dans	
  la	
  croissance	
  économique	
  ?	
  (Belin,	
  p51)	
  
-­‐	
  Comment	
  le	
  progrès	
  technique	
  affecte-­‐t-­‐il	
  la	
  croissance	
  économique	
  ?	
  (Belin,	
  p49)	
  
-­‐	
  Quels	
  liens	
  peut-­‐on	
  établir	
  entre	
  croissance	
  économique	
  et	
  progrès	
  technique	
  ?	
  (Hatier,	
  p372)	
  
-­‐	
  Analysez	
  l’intérêt	
  du	
  PIB	
  par	
  habitant	
  comme	
  indicateur	
  des	
  performances	
  économiques	
  et	
  sociales.	
  
(Hachette,	
  p34)	
  
-­‐	
  Les	
  gains	
  de	
  productivité	
  sont-­‐ils	
  une	
  source	
  essentielle	
  de	
  croissance	
  économique	
  ?	
  (Nathan,	
  p37)	
  
	
  
Epreuve	
  composée	
  Partie	
  1	
  (Questions	
  de	
  cours	
  sans	
  document)	
  
-­‐	
  Pourquoi	
  la	
  hausse	
  du	
  PIB	
  d’un	
  pays	
  n’entraîne-­‐t-­‐elle	
  pas	
  toujours	
  une	
  hausse	
  des	
  niveaux	
  de	
  vie	
  de	
  ses	
  
habitants	
  ?	
  (Bordas,	
  p40)	
  
-­‐	
  Qu’est-­‐ce	
  que	
  la	
  destruction	
  créatrice	
  ,	
  (Bordas,	
  p40)	
  
-­‐	
  Quelles	
  sont	
  les	
  relations	
  entre	
  le	
  capital	
  naturel	
  et	
  la	
  croissance	
  ?	
  (Bordas,	
  p156)	
  
-­‐	
  Comment	
  le	
  PIB	
  évalue-­‐t-­‐il	
  la	
  production	
  non-­‐marchande	
  ?	
  (Belin,	
  p48)	
  
-­‐	
  Montrez	
  en	
  quoi	
  la	
  croissance	
  est	
  un	
  phénomène	
  cumulatif.	
  (Belin,	
  p48)	
  
-­‐	
  Décrivez	
  le	
  phénomène	
  de	
  «	
  destruction	
  créatrice	
  ».	
  (Belin,	
  p50)	
  
-­‐	
  Expliquer	
  l’intérêt	
  et	
  les	
  limites	
  du	
  PIB	
  pour	
  mesurer	
  l’activité	
  économique.	
  (Belin,	
  p50)	
  
-­‐	
  Quelles	
  sont	
  les	
  limites	
  du	
  PIB	
  en	
  tant	
  qu’indicateur	
  de	
  création	
  de	
  richesse	
  ?	
  (Hatier,	
  p34)	
  
-­‐	
  Que	
  signifie	
  l’expression	
  «	
  croissance	
  endogène	
  »	
  ?	
  (Hatier,	
  p34)	
  
-­‐	
  Qu’est-­‐ce	
  qui	
  détermine	
  l’évolution	
  de	
  la	
  productivité	
  globale	
  des	
  facteurs	
  de	
  production	
  ?	
  (Hatier,	
  p400)	
  
-­‐	
  Qu’est-­‐ce	
  que	
  la	
  théorie	
  de	
  la	
  croissance	
  endogène	
  ?	
  (Hachette,	
  p35)	
  
-­‐	
  En	
  quoi	
  l’IDH	
  constitue-­‐t-­‐il	
  une	
  amélioration	
  par	
  rapport	
  au	
  PIB	
  par	
  habitant	
  ?	
  (Hachette,	
  p35)	
  
-­‐	
  Comment	
  mesure-­‐t-­‐on	
  le	
  PIB	
  ?	
  (Nathan,	
  p38)	
  
-­‐	
  En	
  quoi	
  le	
  PIB	
  se	
  distingue-­‐t-­‐il	
  du	
  revenu	
  national	
  brut	
  ?	
  (Nathan,	
  p38)	
  
-­‐	
  Comment	
  la	
  théorie	
  économique	
  analyse-­‐t-­‐elle	
  la	
  croissance	
  à	
  partir	
  de	
  la	
  fonction	
  de	
  production	
  ?	
  (Nathan,	
  
p412)	
  
-­‐	
  Vous	
  montrerez	
  comment	
  le	
  progrès	
  technique	
  favorise	
  la	
  croissance	
  économique.	
  (Sujet	
  zéro)	
  
-­‐	
  Qu’est-­‐ce	
  que	
  la	
  croissance	
  économique	
  ?	
  
-­‐	
  Que	
  mesure	
  le	
  PIB	
  ?	
  
-­‐	
  Que	
  ne	
  mesure	
  pas	
  ou	
  mal	
  le	
  PIB	
  ?	
  
-­‐	
  Comment	
  mesurer	
  l’évolution	
  du	
  niveau	
  de	
  vie	
  des	
  populations	
  ?	
  
-­‐	
  Qu’est-­‐ce	
  que	
  la	
  productivité	
  globale	
  des	
  facteurs	
  ?	
  
-­‐	
  Quel	
  est	
  le	
  lien	
  entre	
  la	
  PGF	
  et	
  le	
  progrès	
  technique	
  ?	
  
-­‐	
  Qu’est-­‐ce	
  que	
  la	
  capital	
  humain	
  ?	
  
-­‐	
  Qu’est-­‐ce	
  que	
  le	
  capital	
  public	
  ?	
  
-­‐	
  Qu’est-­‐ce	
  que	
  le	
  capital	
  immatériel	
  ?	
  
-­‐	
  Qu’est-­‐ce	
  que	
  le	
  capital	
  physique	
  ?	
  
-­‐	
  Quels	
  sont	
  les	
  capitaux	
  dont	
  l’accumulation	
  participe	
  à	
  l’entretien	
  de	
  la	
  croissance	
  économique	
  ?	
  
-­‐	
  Comment	
  l’accumulation	
  du	
  capital	
  (de	
  capitaux)	
  participe-­‐t-­‐elle	
  de	
  l’entretien	
  de	
  la	
  croissance	
  économique	
  ?	
  
-­‐	
  Présentez	
  les	
  institutions	
  importantes	
  pour	
  la	
  croissance	
  économique.	
  
-­‐	
  Quel	
  rôle	
  jouent	
  les	
  institutions	
  dans	
  la	
  croissance	
  économique	
  ?	
  
-­‐	
  Quel	
  rôle	
  jouent	
  les	
  droits	
  de	
  propriété	
  dans	
  la	
  croissance	
  économique	
  ?	
  
-­‐	
  Comment	
  l’innovation	
  favorise-­‐t-­‐elle	
  la	
  croissance	
  économique	
  ?	
  
	
  
Epreuve	
  composée	
  Partie	
  2	
  (Après	
  avoir	
  présenté	
  le	
  document,	
  vous…)	
  	
  
-­‐	
  Comment	
  les	
  institutions	
  peuvent-­‐elles	
  favoriser	
  la	
  croissance	
  économique	
  d’un	
  pays	
  ?	
  (Bordas,	
  p40)	
  (Texte	
  
rapport	
  Bostwana)	
  



-­‐	
  Analyser	
  les	
  sources	
  de	
  la	
  productivité	
  et	
  leur	
  évolution.	
  (Belin,	
  p50)	
  (tab	
  stat	
  résidu/PGF)	
  
-­‐	
  Le	
  progrès	
  technique	
  est-­‐il	
  important	
  pour	
  la	
  croissance	
  économique	
  ?	
  (Hatier,	
  p34)	
  (tab	
  stat	
  résidu/PGF)	
  
-­‐	
  Caractérisez	
  l’évolution	
  du	
  PIB.	
  (Hatier,	
  p394)	
  (graph	
  taux	
  croissance	
  PIB	
  en	
  volume	
  France	
  1990-­‐2010)	
  
-­‐	
  Expliquez	
  les	
  écarts	
  de	
  croissance	
  entre	
  la	
  France	
  et	
  les	
  Etats-­‐Unis.	
  (Hachette,	
  p35)	
  (tab	
  stat	
  TCAM	
  en	
  
volume	
  PIB,	
  emploi,	
  productivité	
  par	
  tête	
  France	
  /	
  Etats-­‐Unis)	
  
-­‐	
  Expliquez	
  pourquoi	
  le	
  PIB	
  est	
  un	
  indicateur	
  imparfait	
  du	
  niveau	
  de	
  vie.	
  (Nathan,	
  p38)	
  (texte	
  discours	
  
Kennedy)	
  
-­‐	
  Quel	
  lien	
  peut-­‐on	
  faire	
  entre	
  dépenses	
  publiques	
  de	
  R&D	
  et	
  croissance	
  ?	
  (Hatier	
  p108)	
  (graph	
  croissance	
  et	
  
dépenses	
  de	
  R&D)	
  
-­‐	
  Qu’est-­‐ce	
  que	
  le	
  document	
  nous	
  apprend	
  sur	
  la	
  croissance	
  des	
  pays	
  émergents	
  ?	
  (Nathan	
  p412)	
  (tab	
  stat	
  
variation	
  %	
  productivité	
  BRIC	
  et	
  contribution	
  par	
  secteur)	
  
-­‐	
  Comment	
  le	
  document	
  permet	
  d’expliquer	
  l’évolution	
  du	
  PIB	
  en	
  2010.	
  (Sujet	
  zéro)	
  
	
  
Epreuve	
  composée	
  Partie	
  3	
  (A	
  partir	
  du	
  dossier	
  documentaire	
  de	
  vos	
  connaissances	
  …)	
  
-­‐	
  Montrez	
  en	
  quoi	
  la	
  hausse	
  de	
  la	
  productivité	
  globale	
  des	
  facteurs	
  est	
  essentielle	
  à	
  la	
  croissance	
  économique.	
  
(Bordas,	
  p40)	
  
-­‐	
  Comment	
  les	
  TIC	
  peuvent-­‐elles	
  contribuer	
  à	
  soutenir	
  la	
  croissance	
  économique	
  ?	
  (Belin,	
  p50)	
  
-­‐	
  En	
  quoi	
  l’action	
  des	
  administrations	
  publiques	
  est-­‐elle	
  essentielle	
  pour	
  la	
  croissance	
  économique	
  ?	
  (Hatier,	
  
p34)	
  
-­‐	
  Comment	
  les	
  politiques	
  publiques	
  en	
  matière	
  de	
  R&D	
  peuvent-­‐elles	
  stimuler	
  la	
  croissance	
  économique	
  ?	
  
(Hachette,	
  p	
  35)	
  
-­‐	
  Montrez	
  comment	
  les	
  facteurs	
  de	
  production	
  peuvent	
  contribuer	
  à	
  la	
  croissance	
  économique.	
  (Nathan,	
  p39)	
  
-­‐	
  Expliquez	
  pourquoi	
  le	
  PIB	
  est	
  un	
  indicateur	
  qui	
  comporte	
  des	
  limites	
  pour	
  mesurer	
  la	
  création	
  de	
  richesses	
  
d’un	
  pays.	
  (Nathan,	
  p405)	
  
-­‐	
  Vous	
  montrerez	
  comment	
  le	
  progrès	
  technique	
  favorise	
  la	
  croissance	
  économique.	
  (Sujet	
  zéro)	
  
	
  
Chapitre	
  2	
  :	
  Comment	
  expliquer	
  l’instabilité	
  de	
  la	
  croissance	
  ?	
  
	
  
Dissertation	
  (Dossier	
  de	
  4	
  documents	
  factuels)	
  
-­‐	
  Pourquoi	
  la	
  croissance	
  économique	
  japonaise	
  a-­‐t-­‐elle	
  fortement	
  ralenti	
  à	
  partir	
  des	
  années	
  1990	
  ?	
  (Bordas,	
  
p66)	
  
-­‐	
  Vous	
  analyserez	
  les	
  conséquences	
  des	
  politiques	
  budgétaires	
  menées	
  depuis	
  2008	
  sur	
  les	
  économies	
  des	
  
pays	
  développées.	
  (Magnard	
  p136)	
  
-­‐	
  Comment	
  les	
  politiques	
  conjoncturelles	
  peuvent-­‐elles	
  agir	
  sur	
  les	
  fluctuations	
  économiques	
  ?	
  (Belin	
  p77)	
  
-­‐	
  Comment	
  expliquer	
  la	
  récurrence	
  des	
  crises	
  économiques	
  ?	
  (Belin	
  p75)	
  
-­‐	
  Peut-­‐on	
  encore	
  faire	
  face	
  à	
  un	
  choc	
  de	
  demande	
  négatif	
  pat	
  la	
  politique	
  budgétaire	
  ?	
  (Hatier	
  p56)	
  
-­‐	
  Les	
  chocs	
  de	
  demande	
  négatifs	
  sont-­‐ils	
  devenus	
  ingérables	
  ?	
  (Hatier	
  p56)	
  
-­‐	
  Comment	
  faire	
  face	
  à	
  un	
  choc	
  de	
  demande	
  négatif	
  ?	
  (Hatier	
  p56)	
  
-­‐	
  Politique	
  budgétaire	
  et	
  chocs	
  de	
  demande	
  négatifs.	
  (Hatier	
  p56)	
  
-­‐	
  Quels	
  liens	
  peut-­‐on	
  établir	
  entre	
  l’évolution	
  de	
  la	
  demande	
  et	
  les	
  fluctuations	
  économiques	
  ?	
  (Hachette	
  p60)	
  
-­‐	
  Comment	
  un	
  déficit	
  public	
  se	
  creuse-­‐t-­‐il	
  en	
  période	
  de	
  récession	
  ?	
  (Hatier	
  p320)	
  
-­‐	
  Vous	
  montrerez	
  comment,	
  au	
  sortir	
  de	
  la	
  crise	
  financière	
  de	
  2008,	
  les	
  politiques	
  budgétaires	
  actives	
  ont	
  
permis	
  d’en	
  atténuer	
  les	
  effets.	
  (Nathan	
  p59)	
  
-­‐	
  Comment	
  pouvez-­‐vous	
  expliquer	
  la	
  crise	
  économique	
  que	
  connaît	
  l’UE	
  depuis	
  2008	
  ?	
  (Nathan	
  p414)	
  
	
  
	
  
Epreuve	
  composée	
  Partie	
  1	
  (Questions	
  de	
  cours	
  sans	
  document)	
  
-­‐	
  Quels	
  sont	
  les	
  principaux	
  déterminants	
  de	
  la	
  croissance	
  économique	
  potentielle	
  ?	
  (Bordas,	
  p65)	
  
-­‐	
  Qu’est-­‐ce	
  qu’un	
  choc	
  d’offre	
  ?	
  (Bordas,	
  p65)	
  
-­‐	
  Quel	
  est	
  le	
  rôle	
  des	
  politiques	
  conjoncturelles	
  dans	
  la	
  stabilisation	
  des	
  économies	
  ?	
  (Bordas	
  p399)	
  
-­‐	
  Quel	
  est	
  l’intérêt	
  de	
  calculer	
  un	
  taux	
  de	
  croissance	
  potentielle	
  ?	
  (Magnard	
  p124)	
  
-­‐	
  Qu’est-­‐ce	
  qu’une	
  situation	
  de	
  déflation	
  ?	
  (Magnard	
  p124)	
  
-­‐	
  Comment	
  distinguer	
  croissance	
  potentielle	
  et	
  croissance	
  effective	
  ?	
  (Magnard,	
  p388)	
  
-­‐	
  Expliquez	
  pourquoi	
  les	
  crises	
  économiques	
  se	
  préparent	
  généralement	
  en	
  période	
  d’expansion	
  ?	
  (Belin	
  p76)	
  
-­‐	
  Expliquez	
  les	
  principes	
  et	
  les	
  modalités	
  des	
  politiques	
  conjoncturelles.	
  (Belin	
  p76)	
  
-­‐	
  Que	
  signifie	
  l’expression	
  «	
  fluctuations	
  économiques	
  »	
  ?	
  (Hatier	
  p392)	
  
-­‐	
  Pourquoi	
  un	
  choc	
  de	
  demande	
  peut-­‐il	
  provoquer	
  une	
  récession	
  ?	
  (Hatier	
  p396)	
  
-­‐	
  Qu’est-­‐ce	
  qu’un	
  choc	
  économique	
  ?	
  (Hachette	
  p61)	
  



-­‐	
  Quels	
  sont	
  les	
  principaux	
  types	
  de	
  politique	
  macroéconomique	
  permettant	
  de	
  faire	
  face	
  aux	
  fluctuations	
  ?	
  
(Hachette	
  p61)	
  
-­‐	
  Expliquez	
  quels	
  sont	
  les	
  objectifs	
  et	
  les	
  outils	
  d’une	
  politique	
  monétaire	
  restrictive.	
  (Nathan	
  p60)	
  
-­‐	
  Expliquez	
  et	
  illustrez	
  la	
  notion	
  de	
  choc	
  d’offre.	
  (Nathan	
  p60)	
  
	
  
Epreuve	
  composée	
  Partie	
  2	
  (Après	
  avoir	
  présenté	
  le	
  document,	
  vous…)	
  	
  
-­‐	
  Montrez	
  comment	
  la	
  politique	
  budgétaire	
  peut	
  limiter	
  les	
  conséquences	
  sur	
  la	
  croissance	
  et	
  l’emploi	
  d’un	
  
choc	
  de	
  demande	
  négatif.	
  (Bordas,	
  p65)	
  (tab	
  stat	
  plans	
  de	
  relance	
  UE)	
  
-­‐	
  Analysez	
  les	
  fluctuations	
  du	
  marché	
  boursier	
  et	
  de	
  la	
  croissance	
  en	
  France	
  depuis	
  1988.	
  (Magnard	
  p124)	
  
(graph	
  évolution	
  cac40	
  et	
  PIB	
  France)	
  
-­‐	
  En	
  quoi	
  le	
  document	
  permet-­‐il	
  de	
  rendre	
  compte	
  de	
  la	
  crise	
  économique	
  mondiale	
  depuis	
  2008	
  ?	
  (Magnard	
  
p386)	
  (graph	
  variation	
  PIB	
  en	
  volume)	
  
-­‐	
  Analysez	
  les	
  effets	
  de	
  a	
  crise	
  financière	
  de	
  2007	
  sur	
  la	
  croissance	
  mondiale.	
  (Belin	
  p76)	
  (tab	
  stat)	
  
-­‐	
  Montrez	
  que	
  les	
  cycles	
  économiques	
  reflètent	
  souvent	
  la	
  dynamique	
  de	
  l’endettement.	
  (Belin	
  p74)	
  (graph	
  
évolution	
  dette	
  US)	
  
-­‐	
  Caractérisez	
  l’évolution	
  du	
  PIB	
  que	
  le	
  document	
  met	
  en	
  évidence.	
  (Hatier	
  p394)	
  (graph	
  evol	
  tx	
  croissance	
  
PIB	
  en	
  volume)	
  
-­‐	
  Comparez	
  les	
  évolutions	
  économique	
  en	
  France	
  et	
  en	
  Allemagne	
  en	
  mettant	
  en	
  évidence	
  	
  les	
  périodes	
  
significatives.	
  (Hachette	
  p61)	
  (graph)	
  
-­‐	
  Caractérisez	
  et	
  distinguez	
  les	
  périodes	
  de	
  récession	
  en	
  France	
  depuis	
  1921.	
  (Nathan	
  p60)	
  
	
  
Epreuve	
  composée	
  Partie	
  3	
  (A	
  partir	
  du	
  dossier	
  documentaire	
  de	
  vos	
  connaissances	
  …)	
  
-­‐	
  En	
  quoi	
  les	
  banques	
  ont	
  favorisé	
  l’apparition	
  de	
  la	
  crise	
  économique	
  de	
  la	
  fin	
  des	
  années	
  2000	
  ?	
  (Bordas,	
  
p65)	
  
-­‐	
  Par	
  quels	
  mécanismes	
  les	
  crises	
  financières	
  affectent-­‐elles	
  l’économie	
  réelle	
  ?	
  (Magnard	
  p124)	
  
-­‐	
  Montrez	
  par	
  quels	
  mécanismes	
  une	
  crise	
  financière	
  induit	
  un	
  effet	
  récessif	
  cumulatif.	
  	
  (Belin	
  p76)	
  
-­‐	
  Pourquoi	
  il	
  peut	
  être	
  difficile	
  de	
  sortir	
  de	
  la	
  récession	
  ?	
  (Hatier	
  p386)	
  
-­‐	
  Quels	
  effets	
  une	
  politique	
  de	
  relance	
  peut-­‐elle	
  avoir	
  sur	
  le	
  chômage	
  ?	
  (Hachette	
  p62)	
  
-­‐	
  Montrez	
  que	
  les	
  fluctuations	
  économiques	
  peuvent	
  trouver	
  leur	
  origine	
  dans	
  des	
  chocs	
  de	
  demande.	
  (Nathan	
  
p61)	
  
	
  
Chapitre	
  3	
  :	
  Quels	
  sont	
  les	
  fondements	
  du	
  commerce	
  international	
  et	
  de	
  l’internationalisation	
  de	
  la	
  
production	
  ?	
  
	
  
Dissertation	
  (Dossier	
  de	
  4	
  documents	
  factuels)	
  
-­‐	
  Que	
  recherchent	
  les	
  FMN	
  dans	
  leurs	
  stratégies	
  de	
  localisation	
  internationale	
  ?	
  (Bordas,	
  p91)	
  
-­‐	
  Comment	
  peut-­‐on	
  expliquer	
  les	
  recours	
  au	
  protectionnisme	
  ?	
  (Magnard	
  p38)	
  
-­‐	
  La	
  recherche	
  de	
  faibles	
  coûts	
  du	
  travail	
  explique-­‐t-­‐elle	
  les	
  stratégies	
  d’implantation	
  des	
  firmes	
  
transnationales	
  ?	
  (Belin	
  p107)	
  
-­‐	
  L’ouverture	
  des	
  économies	
  au	
  libre-­‐échange	
  est-­‐elle	
  favorable	
  à	
  la	
  croissance	
  ?	
  (Belin	
  p105)	
  
-­‐	
  Quels	
  sont	
  les	
  avantages	
  	
  et	
  les	
  inconvénients	
  des	
  politiques	
  protectionnistes	
  ?	
  (Hatier	
  p84)	
  
-­‐	
  Quelles	
  sont	
  les	
  stratégies	
  mises	
  en	
  œuvre	
  par	
  les	
  FMN	
  pour	
  la	
  localisation	
  de	
  leurs	
  activités	
  ?	
  (Hachette	
  p92)	
  
-­‐	
  Dans	
  quelle	
  mesure	
  les	
  entreprises	
  des	
  pays	
  développés	
  ont-­‐elles	
  intérêt	
  à	
  s’installer	
  dans	
  les	
  pays	
  en	
  
développement	
  ?	
  (Nathan	
  p85)	
  
-­‐	
  Comment	
  expliquer	
  les	
  choix	
  de	
  localisation	
  géographique	
  des	
  entreprises	
  ?	
  (Nathan	
  p406)	
  
-­‐	
  Comment	
  peut-­‐on	
  expliquer	
  les	
  échanges	
  internationaux	
  de	
  marchandises	
  ?	
  (sujet	
  zéro)	
  
	
  
Epreuve	
  composée	
  Partie	
  1	
  (Questions	
  de	
  cours	
  sans	
  document)	
  
-­‐	
  Quels	
  peuvent	
  être	
  les	
  avantages	
  du	
  protectionnisme	
  ?	
  (Bordas,	
  p92)	
  
-­‐	
  Expliquez	
  la	
  relation	
  entre	
  spécialisation	
  et	
  dotation	
  factorielle.	
  (Bordas,	
  p92)	
  
-­‐	
  Quels	
  sont	
  les	
  déterminants	
  de	
  la	
  compétitivité	
  des	
  entreprises	
  ?	
  (Bordas	
  p397)	
  
-­‐	
  Quels	
  sont	
  les	
  déterminants	
  des	
  délocalisations	
  ?	
  (Bordas	
  p398)	
  
-­‐	
  Comment	
  les	
  entreprises	
  peuvent-­‐elles	
  améliorer	
  leur	
  compétitivité	
  ?	
  (Belin	
  p106)	
  
-­‐	
  Expliquez	
  la	
  progression	
  du	
  commerce	
  international	
  depuis	
  la	
  fin	
  de	
  la	
  seconde	
  guerre	
  mondiale.	
  (Belin	
  
p106)	
  
-­‐	
  Quelles	
  sont	
  les	
  causes	
  de	
  l’ouverture	
  des	
  économies	
  ?	
  (Hatier	
  p390)	
  
-­‐	
  Quels	
  sont	
  les	
  déterminants	
  de	
  la	
  spécialisation	
  des	
  pays	
  ?	
  (Hachette	
  p93)	
  
-­‐	
  Comment	
  les	
  stratégies	
  d’internationalisation	
  des	
  entreprises	
  influencent-­‐elles	
  la	
  DIT	
  ?	
  (Hachette	
  p93)	
  



-­‐	
  Enoncez	
  les	
  principales	
  limites	
  de	
  la	
  théorie	
  des	
  avantages	
  comparatifs.	
  (Nathan	
  p86)	
  
-­‐	
  Qu’est-­‐ce	
  que	
  le	
  commerce	
  intra-­‐firme	
  ?	
  (Nathan	
  p86)	
  
-­‐	
  Vous	
  montrerez	
  comment	
  le	
  progrès	
  technique	
  favorise	
  la	
  croissance	
  économique.	
  (Sujet	
  zéro)	
  
	
  
Epreuve	
  composée	
  Partie	
  2	
  (Après	
  avoir	
  présenté	
  le	
  document,	
  vous…)	
  	
  
-­‐	
  Quels	
  sont	
  les	
  points	
  forts	
  et	
  les	
  points	
  faibles	
  de	
  l’économie	
  française	
  dans	
  le	
  commerce	
  international.	
  
(Bordas,	
  p91)	
  (graph	
  évolution	
  produits	
  exportés/importés)	
  
-­‐	
  Comment	
  les	
  firmes	
  multinationales	
  affectent	
  l’organisation	
  des	
  échanges	
  commerciaux	
  internationaux.	
  
(Belin	
  p106)	
  (tab	
  stat	
  M°	
  biens	
  interm	
  FMN)	
  
-­‐	
  Expliquez	
  l’origine	
  et	
  la	
  répartition	
  géographique	
  des	
  flux	
  d’IDE.	
  (Belin	
  p104)	
  (tab	
  stat	
  flux	
  d’IDE)	
  
-­‐	
  Les	
  FMN	
  ont-­‐elles	
  toujours	
  intérêt	
  à	
  délocaliser	
  une	
  partie	
  de	
  leur	
  production	
  ?	
  (Hatier	
  p396)	
  (texte	
  Le	
  
Parisien)	
  
-­‐	
  Expliquez	
  l’évolution	
  des	
  droits	
  de	
  douanes	
  dans	
  les	
  pays	
  en	
  développement	
  dont	
  il	
  est	
  question.	
  (Hachette	
  
p93)	
  (graph)	
  
-­‐	
  L’ouverture	
  des	
  échanges	
  commerciaux	
  a-­‐t-­‐elle	
  augmenté	
  ?	
  (Nathan	
  p86)	
  (graph	
  tx	
  variation	
  PIB	
  et	
  
commerce	
  B&S)	
  
	
  
Epreuve	
  composée	
  Partie	
  3	
  (A	
  partir	
  du	
  dossier	
  documentaire	
  de	
  vos	
  connaissances	
  …)	
  
-­‐	
  Quels	
  sont	
  les	
  gains	
  du	
  libre-­‐échange	
  ?	
  (Bordas,	
  p92)	
  
-­‐	
  Quels	
  sont	
  les	
  déterminants	
  de	
  la	
  division	
  internationale	
  du	
  travail.	
  (Bordas	
  p399)	
  
-­‐	
  Comment	
  les	
  firmes	
  parviennent-­‐elles	
  à	
  améliorer	
  leur	
  compétitivité	
  ?	
  (Bordas	
  p400)	
  
-­‐	
  Comment	
  peut-­‐on	
  expliquer	
  les	
  choix	
  de	
  localisations	
  territoriales	
  des	
  FMN	
  ?	
  (Magnard	
  p387)	
  
-­‐	
  Quels	
  pourraient	
  être	
  les	
  effets	
  d’un	
  protectionnisme	
  sur	
  les	
  produits	
  et	
  les	
  investissements	
  de	
  pays	
  
émergents	
  ?	
  (Belin	
  p106)	
  
-­‐	
  Comment	
  expliquer	
  le	
  développement	
  des	
  échanges	
  internationaux	
  depuis	
  1945	
  ?	
  (Hatier	
  p389)	
  
-­‐	
  Analysez	
  les	
  effets	
  de	
  l’ouverture	
  des	
  pays	
  aux	
  échanges	
  internationaux.	
  (Hachette	
  p94)	
  
-­‐	
  La	
  mondialisation	
  est-­‐elle	
  destructrice	
  d’emplois	
  ?	
  (Nathan	
  p87)	
  
	
  
Chapitre	
  4	
  :	
  Comment	
  s’opère	
  le	
  financement	
  de	
  l’économie	
  mondiale	
  ?	
  
	
  
Dissertation	
  (Dossier	
  de	
  4	
  documents	
  factuels)	
  
-­‐	
  Quels	
  sont	
  les	
  effets	
  d’une	
  variation	
  des	
  cours	
  de	
  change	
  sur	
  l’économie	
  des	
  pays	
  concernés	
  ?	
  (Bordas,	
  p118)	
  
-­‐	
  Vous	
  analyserez	
  l’évolution	
  des	
  flux	
  internationaux	
  de	
  capitaux	
  dans	
  l’économie	
  mondiale.	
  (Magnard	
  p62)	
  
-­‐	
  La	
  dépréciation	
  de	
  la	
  monnaie	
  nationale	
  est-­‐elle	
  favorable	
  au	
  développement	
  des	
  échanges	
  extérieurs	
  ?	
  
(Belin	
  p133)	
  
-­‐	
  Comment	
  expliquez	
  l’importance	
  des	
  flux	
  internationaux	
  de	
  capitaux	
  depuis	
  une	
  vingtaine	
  d’années	
  ?	
  (Belin	
  
p131)	
  
-­‐	
  Comment	
  un	
  pays	
  en	
  déficit	
  commercial	
  parvient-­‐il	
  à	
  équilibrer	
  sa	
  balance	
  des	
  paiements	
  ?	
  (Hatier	
  p374)	
  
-­‐	
  Quelles	
  relations	
  peut-­‐on	
  mettre	
  en	
  évidence	
  entre	
  flux	
  de	
  capitaux	
  et	
  développement	
  ?	
  (Hachette	
  p118)	
  
-­‐	
  La	
  liberté	
  des	
  mouvements	
  de	
  capitaux	
  est-­‐elle	
  favorable	
  à	
  la	
  croissance	
  ?	
  (Nathan	
  p107)	
  
	
  
Epreuve	
  composée	
  Partie	
  1	
  (Questions	
  de	
  cours	
  sans	
  document)	
  
-­‐	
  Pourquoi	
  la	
  balance	
  des	
  paiements	
  est-­‐elle	
  toujours	
  équilibrée	
  ?	
  (Bordas	
  p117)	
  
-­‐	
  Quels	
  sont	
  les	
  avantages	
  respectifs	
  des	
  changes	
  fixes	
  et	
  flexibles	
  ?	
  (Bordas	
  p117)	
  
-­‐	
  A	
  quoi	
  sert	
  la	
  balance	
  des	
  paiements	
  ?	
  (Belin	
  p132)	
  
-­‐	
  Quels	
  sont	
  les	
  effets	
  de	
  l’appréciation	
  d’une	
  monnaie	
  par	
  rapport	
  aux	
  autres	
  devises	
  ?	
  (Belin	
  p132)	
  
-­‐	
  Qu’est-­‐ce	
  que	
  le	
  marché	
  des	
  changes	
  ?	
  (Hatier	
  p388)	
  
-­‐	
  Quels	
  sont	
  les	
  principaux	
  comptes	
  de	
  la	
  balance	
  des	
  paiements	
  ?	
  (Hachette	
  p119)	
  
-­‐	
  Qu’est-­‐ce	
  que	
  le	
  marché	
  des	
  changes	
  ?	
  (Hachette	
  p119)	
  
-­‐	
  Quelles	
  relations	
  peut-­‐on	
  faire	
  entre	
  compétitivité	
  et	
  taux	
  de	
  change	
  ?	
  (Nathan	
  p108)	
  
-­‐	
  Quelles	
  sont	
  les	
  principales	
  forces	
  agissant	
  sur	
  les	
  taux	
  de	
  change	
  ?	
  (Nathan	
  p108)	
  
	
  
Epreuve	
  composée	
  Partie	
  2	
  (Après	
  avoir	
  présenté	
  le	
  document,	
  vous…)	
  	
  
-­‐	
  Analysez	
  l’évolution	
  des	
  cours	
  de	
  change	
  chinois	
  et	
  américains.	
  (Bordas	
  p117)	
  (graph	
  	
  évolution	
  en	
  indice)	
  
-­‐	
  En	
  quoi	
  l’évolution	
  du	
  change	
  de	
  l’euro	
  affecte	
  la	
  compétitivité	
  des	
  produits	
  exportés	
  par	
  la	
  France	
  et	
  par	
  
l’Allemagne	
  ?	
  (Magnard	
  p384)	
  (graph)	
  
-­‐	
  Décrivez	
  et	
  expliquez	
  	
  la	
  configuration	
  actuelle	
  du	
  SMI.	
  (Belin	
  p132)	
  
-­‐	
  Expliquez	
  les	
  effets	
  du	
  passage	
  à	
  un	
  SMI	
  en	
  changes	
  flottants.	
  (Belin	
  p130)	
  (schéma)	
  



-­‐	
  Analysez	
  l’évolution	
  de	
  la	
  balance	
  des	
  transactions	
  courantes	
  américaine	
  depuis	
  2003.	
  (Hachette	
  p119)	
  
(graph)	
  
-­‐	
  Comment	
  s’équilibrent	
  les	
  échanges	
  des	
  pays	
  en	
  développement	
  ?	
  (Nathan	
  p108)	
  (tab	
  stat	
  comptes	
  fi)	
  
	
  
Epreuve	
  composée	
  Partie	
  3	
  (A	
  partir	
  du	
  dossier	
  documentaire	
  de	
  vos	
  connaissances	
  …)	
  
-­‐	
  Quels	
  sont	
  les	
  déterminants	
  des	
  flux	
  internationaux	
  de	
  capitaux	
  ?	
  (Bordas,	
  p117)	
  
-­‐	
  Quels	
  sont	
  les	
  avantages	
  et	
  les	
  inconvénients	
  d’un	
  régime	
  de	
  taux	
  de	
  change	
  fixe	
  ?	
  (Belin	
  p132)	
  
-­‐	
  Présentez	
  les	
  effets	
  des	
  flux	
  internationaux	
  de	
  capitaux	
  privés	
  sur	
  l’économie	
  des	
  pays	
  émergents	
  et	
  en	
  
développement	
  durant	
  la	
  dernière	
  décennie.	
  (Hatier	
  p108)	
  
-­‐	
  Analysez	
  les	
  effets	
  des	
  variations	
  du	
  taux	
  de	
  change	
  du	
  dollar	
  sur	
  la	
  balance	
  courante	
  américaine.	
  (Hachette	
  
p120)	
  
-­‐	
  L’Euro	
  supprime-­‐t-­‐il	
  la	
  contrainte	
  extérieure	
  pour	
  les	
  pays	
  de	
  la	
  zone	
  ?	
  (Nathan	
  p109)	
  
	
  
Chapitre	
  5	
  :	
  Quelle	
  est	
  la	
  place	
  de	
  l’UE	
  dans	
  l’économie	
  globale	
  ?	
  
	
  
Dissertation	
  (Dossier	
  de	
  4	
  documents	
  factuels)	
  
-­‐	
  Quelle	
  est	
  l’importance	
  actuelle	
  de	
  l’UEM	
  dans	
  le	
  contexte	
  monétaire	
  et	
  financier	
  international	
  ?	
  (Bordas,	
  
p137)	
  
-­‐	
  Vous	
  analyserez	
  comment	
  la	
  réduction	
  des	
  déficits	
  peut	
  contribuer	
  à	
  sauver	
  l’UEM	
  ?	
  (Magnard	
  p86)	
  
-­‐	
  Dans	
  quelle	
  mesure	
  la	
  construction	
  européenne	
  a-­‐t-­‐elle	
  favorisé	
  la	
  croissance	
  des	
  pays	
  membres	
  ?	
  (Belin	
  
p157)	
  
-­‐	
  La	
  construction	
  économique	
  et	
  monétaire	
  a-­‐t-­‐elle	
  favorisé	
  la	
  convergence	
  économique	
  des	
  pays	
  membres	
  de	
  
l’UE	
  ?	
  (Belin	
  p159)	
  
-­‐	
  En	
  quoi	
  la	
  crise	
  grecque	
  révèle-­‐t-­‐elle	
  les	
  différentes	
  limites	
  de	
  l’UEM	
  ?	
  (Hatier	
  p130)	
  
-­‐	
  En	
  quoi	
  l’exemple	
  franco-­‐allemand	
  illustre-­‐t-­‐il	
  les	
  difficultés	
  de	
  coordination	
  des	
  politiques	
  économiques	
  au	
  
sein	
  de	
  l’UEM	
  ?	
  (Hachette	
  p144)	
  
-­‐	
  Le	
  renforcement	
  de	
  l’UEM	
  peut-­‐il	
  se	
  faire	
  sans	
  «	
  Europe	
  sociale	
  »	
  ?	
  (Nathan	
  p133)	
  
	
  
Epreuve	
  composée	
  Partie	
  1	
  (Questions	
  de	
  cours	
  sans	
  document)	
  
-­‐	
  Comment	
  l’UEM	
  renforce-­‐t-­‐elle	
  les	
  interdépendances	
  entre	
  les	
  politiques	
  macroéconomiques	
  des	
  Etats	
  
membres	
  ?	
  (Bordas,	
  p138)	
  
-­‐	
  Pourquoi	
  les	
  Etats	
  membres	
  de	
  l’UEM	
  ont-­‐ils	
  décidé	
  d’intégrer	
  leur	
  économie	
  ?	
  (Bordas,	
  p138)	
  
-­‐	
  Rappelez	
  les	
  principaux	
  avantages	
  de	
  l’adoption	
  d’une	
  monnaie	
  unique.	
  (Belin	
  p158)	
  
-­‐	
  Montrez	
  que	
  l’UEM	
  implique	
  une	
  coordination	
  des	
  politiques	
  économiques	
  de	
  ses	
  membres.	
  (Belin	
  p158)	
  
-­‐	
  A	
  quel	
  degré	
  d’intégration	
  l’UE	
  se	
  trouve-­‐t-­‐elle	
  actuellement	
  ?	
  (Hatier	
  p396)	
  
-­‐	
  Quelles	
  sont	
  les	
  principales	
  justifications	
  économiques	
  de	
  la	
  mise	
  en	
  place	
  d	
  l’euro	
  ?	
  (Hachette	
  p145)	
  
-­‐	
  En	
  quoi	
  l’élargissement	
  de	
  l’UEM	
  à	
  l’est	
  en	
  2004	
  est-­‐il	
  différent	
  des	
  précédents	
  ?	
  (Hachette	
  p145)	
  
-­‐	
  Quels	
  sont	
  les	
  objectifs	
  économiques	
  visés	
  par	
  les	
  politiques	
  de	
  stabilités	
  des	
  prix	
  de	
  la	
  BCE	
  ?	
  (Nathan	
  p134)	
  
-­‐	
  Quels	
  risques	
  fait	
  peser	
  sur	
  la	
  zone	
  euro	
  le	
  non-­‐respect	
  des	
  recommandations	
  du	
  Pacte	
  de	
  stabilité	
  t	
  de	
  
croissance	
  par	
  un	
  pays	
  membre	
  ?	
  (Nathan	
  p134)	
  
	
  
Epreuve	
  composée	
  Partie	
  2	
  (Après	
  avoir	
  présenté	
  le	
  document,	
  vous…)	
  	
  
-­‐	
  Comment	
  la	
  BCE	
  peut	
  intervenir	
  dans	
  le	
  financement	
  du	
  budget	
  des	
  Etats	
  membres	
  ?	
  (Bordas,	
  p138)	
  (texte	
  
La	
  Croix)	
  
-­‐	
  Comment	
  les	
  évolutions	
  récentes	
  de	
  l’emploi	
  au	
  sein	
  de	
  l’UEM	
  peuvent	
  s’expliquer	
  et	
  précisez	
  leurs	
  
implications.	
  (Belin	
  p158)	
  (Carte	
  pays	
  Europe	
  indice	
  emploi)	
  
-­‐	
  L’UE	
  forme-­‐t-­‐elle	
  une	
  zone	
  de	
  pays	
  aux	
  caractéristiques	
  homogènes	
  ?	
  (Hatier	
  p396)	
  (tab	
  stat)	
  
-­‐	
  D’après	
  le	
  document,	
  l’UE	
  est-­‐elle	
  sur	
  la	
  voie	
  de	
  la	
  convergence	
  économique	
  ?	
  (Hachette	
  p145)	
  
-­‐	
  Les	
  écarts	
  en	
  matière	
  de	
  R&D	
  se	
  réduisent-­‐ils	
  entre	
  l’UE,	
  les	
  Etats-­‐Unis	
  et	
  le	
  Japon	
  ?	
  Quelles	
  conséquences	
  
une	
  telle	
  situation	
  risque	
  d’entraîner	
  ?	
  (Nathan	
  p134)	
  
	
  
Epreuve	
  composée	
  Partie	
  3	
  (A	
  partir	
  du	
  dossier	
  documentaire	
  de	
  vos	
  connaissances	
  …)	
  
-­‐	
  Analysez	
  les	
  difficultés	
  de	
  coordination	
  des	
  politiques	
  économiques	
  en	
  Europe	
  au	
  cœur	
  de	
  la	
  crise.	
  (Bordas,	
  
p138)	
  
-­‐	
  Expliquez	
  les	
  conséquences	
  de	
  l’adhésion	
  à	
  l’UEM	
  pour	
  les	
  pays	
  membres.	
  (Bordas	
  p397)	
  
-­‐	
  Présentez	
  les	
  caractéristiques	
  des	
  politiques	
  conjoncturelles	
  menées	
  au	
  sein	
  de	
  la	
  zone	
  euro.	
  (Belin	
  p156)	
  
-­‐	
  Quels	
  sont	
  les	
  enjeux	
  de	
  l’accroissement	
  du	
  budget	
  communautaire	
  de	
  l’UE	
  ?	
  (Belin	
  p158)	
  



-­‐	
  En	
  quoi	
  les	
  difficultés	
  de	
  coordination	
  des	
  politiques	
  économiques	
  au	
  sein	
  de	
  l’UEM	
  peuvent-­‐elles	
  constituer	
  
un	
  obstacle	
  à	
  la	
  réalisation	
  de	
  la	
  stratégie	
  Europe	
  2010	
  ?	
  (Hatier	
  p391)	
  
-­‐	
  Montrez	
  que	
  les	
  performances	
  économiques	
  de	
  la	
  zone	
  euro,	
  suite	
  à	
  la	
  mise	
  en	
  place	
  de	
  l’UEM,	
  n’ont	
  pas	
  été	
  à	
  
la	
  hauteur	
  des	
  effets	
  attendus	
  d’une	
  telle	
  construction.	
  (Hachette	
  p146)	
  
-­‐	
  L’intégration	
  européenne	
  a-­‐t-­‐elle	
  favorisé	
  les	
  rattrapages	
  économiques	
  ?	
  (Nathan	
  p135)	
  
	
  
	
  
Chapitre	
  6	
  et	
  7	
  :	
  La	
  croissance	
  économique	
  est-­‐elle	
  compatible	
  avec	
  la	
  préservation	
  de	
  l’environnement	
  ?	
  
Quels	
  instruments	
  pour	
  la	
  politique	
  climatique	
  ?	
  
	
  
Dissertation	
  (Dossier	
  de	
  4	
  documents	
  factuels)	
  
-­‐	
  Le	
  développement	
  durable	
  est-­‐il	
  suffisant	
  pour	
  pallier	
  les	
  limites	
  écologiques	
  de	
  la	
  croissance	
  ?	
  (Bordas,	
  
p158)	
  
-­‐	
  Le	
  marché	
  des	
  quotas	
  d’émission	
  peut-­‐il	
  à	
  lui	
  seul	
  apporter	
  une	
  solution	
  au	
  changement	
  climatique	
  ?	
  
(Bordas,	
  p177)	
  
-­‐	
  Quelle	
  place	
  accorder	
  à	
  la	
  croissance	
  économique	
  pour	
  assurer	
  le	
  développement	
  durable	
  ?	
  (Magnard,	
  p160)	
  
-­‐	
  Dans	
  quelle	
  mesure	
  la	
  science	
  économique	
  permet-­‐elle	
  de	
  résoudre	
  le	
  problème	
  du	
  réchauffement	
  
climatique	
  ?	
  (Magnard,	
  p182)	
  
-­‐	
  La	
  croissance	
  économique	
  est-­‐elles	
  compatibles	
  avec	
  le	
  développement	
  durable	
  ?	
  (Belin,	
  p183)	
  
-­‐	
  Dans	
  quelle	
  mesure	
  la	
  croissance	
  économique	
  assure-­‐t-­‐elle	
  le	
  bien	
  être	
  des	
  populations	
  ?	
  (Belin,	
  p185)	
  
-­‐	
  Quelles	
  sont	
  les	
  conditions	
  de	
  l’adoption	
  et	
  de	
  la	
  réussite	
  de	
  politiques	
  de	
  maîtrise	
  des	
  émissions	
  de	
  
carbone	
  ?	
  (Belin,	
  p207)	
  
-­‐	
  La	
  recherche	
  d’un	
  développement	
  durable	
  implique-­‐t-­‐elle	
  l’arrêt	
  de	
  la	
  croissance	
  économique	
  ?	
  (Hatier,	
  
p154)	
  
-­‐Dans	
  quelle	
  mesure	
  la	
  création	
  d’une	
  taxe	
  carbone	
  est-­‐elle	
  souhaitable	
  ?	
  (Hatier,	
  p376)	
  
-­‐	
  Analysez	
  les	
  imites	
  écologiques	
  de	
  la	
  croissance.	
  (Hachette,	
  p172)	
  
-­‐	
  Vous	
  analyserez	
  la	
  politique	
  climatique	
  de	
  la	
  France	
  depuis	
  le	
  début	
  des	
  années	
  2000.	
  (Hachette,	
  p198)	
  
-­‐	
  Comment	
  peut-­‐on	
  justifier	
  les	
  limites	
  de	
  la	
  croissance	
  économique	
  ?	
  (Nathan,	
  p155)	
  
-­‐	
  Sur	
  quels	
  mécanismes	
  les	
  politiques	
  climatiques	
  reposent-­‐elles	
  ?	
  (Nathan,	
  p179)	
  
	
  
	
  
Epreuve	
  composée	
  Partie	
  1	
  (Questions	
  de	
  cours	
  sans	
  document)	
  
-­‐	
  Quelles	
  sont	
  les	
  relations	
  entre	
  le	
  capital	
  naturel	
  et	
  la	
  croissance	
  ?	
  (Bordas,	
  p156)	
  
-­‐	
  Quelles	
  sont	
  les	
  principales	
  conceptions	
  du	
  développement	
  durable	
  ?	
  (Bordas,	
  p156)	
  
-­‐	
  Comment	
  fonctionne	
  un	
  marché	
  de	
  quotas	
  d’émission	
  ?	
  (Bordas,	
  p400)	
  
-­‐	
  Quelles	
  sont	
  les	
  conséquences	
  de	
  l’instauration	
  d’une	
  taxation	
  écologique	
  ?	
  (Bordas,	
  p	
  178)	
  
-­‐	
  De	
  quels	
  instruments	
  les	
  pouvoirs	
  publics	
  disposent-­‐ils	
  pour	
  mener	
  des	
  politiques	
  environnementales	
  ?	
  
(Bordas,	
  p178)	
  
-­‐	
  Quelles	
  sont	
  les	
  limites	
  du	
  recours	
  au	
  marché	
  pour	
  lutter	
  contre	
  les	
  problèmes	
  environnementaux	
  ?	
  
(Magnard,	
  p384)	
  
-­‐	
  Quels	
  sont	
  les	
  avantages	
  et	
  les	
  inconvénients	
  d’une	
  taxation	
  de	
  la	
  pollution	
  ?	
  (Magnard,	
  p388)	
  
-­‐	
  Montrez	
  les	
  relations	
  entre	
  croissance	
  et	
  développement.	
  (Belin,	
  p184)	
  
-­‐	
  En	
  quoi	
  les	
  approches	
  de	
  la	
  soutenabilité	
  faible	
  et	
  de	
  la	
  soutenabilité	
  forte	
  proposent-­‐elles	
  des	
  visions	
  
divergentes	
  du	
  développement	
  durable	
  ?	
  (Belin,	
  p184)	
  
-­‐	
  Expliquez	
  le	
  principe	
  de	
  la	
  taxe	
  carbone	
  et	
  présentez	
  succinctement	
  ses	
  avantages	
  et	
  inconvénients	
  par	
  
rapport	
  aux	
  normes	
  et	
  aux	
  instruments	
  de	
  marché.	
  (Belin,	
  p206)	
  
-­‐	
  Dans	
  quelle	
  mesure	
  les	
  marchés	
  du	
  carbone	
  sont-­‐ils	
  un	
  instrument	
  pertinent	
  de	
  la	
  politique	
  climatique	
  ?	
  
(Belin,	
  p206)	
  
-­‐	
  Quel	
  est	
  l’intérêt	
  de	
  l’IDH	
  par	
  rapport	
  au	
  PIB	
  ?	
  (Hatier	
  p108)	
  
-­‐	
  Donnez	
  deux	
  raisons	
  qui	
  permettent	
  de	
  comprendre	
  pourquoi	
  la	
  croissance	
  économique	
  n’est	
  pas	
  
nécessairement	
  synonyme	
  d’épuisement	
  des	
  ressources	
  naturelles.	
  (Hatier,	
  p386)	
  
-­‐	
  Expliquez	
  pourquoi	
  la	
  question	
  du	
  degré	
  de	
  substitution	
  entre	
  les	
  différents	
  capitaux	
  (naturel,	
  physique,	
  
humain,	
  social	
  et	
  institutionnel)	
  oppose	
  les	
  partisans	
  d’une	
  soutenabilité	
  faible	
  et	
  ceux	
  d’une	
  soutenabilité	
  
forte.	
  (Hatier,	
  p394)	
  
-­‐	
  Pourquoi	
  une	
  politique	
  climatique	
  utilisant	
  les	
  instruments	
  économiques	
  (taxation	
  et	
  marché	
  de	
  quotas	
  
d’émission)	
  est-­‐elle	
  économiquement	
  plus	
  efficace	
  qu’une	
  politique	
  climatique	
  reposant	
  sur	
  la	
  
réglementation	
  ?	
  (Hatier,	
  p176)	
  
-­‐	
  Pourquoi	
  les	
  marchés	
  laissés	
  à	
  eux-­‐mêmes	
  ne	
  peuvent-­‐ils	
  résoudre	
  la	
  question	
  climatique	
  ?	
  (Hatier,	
  p176)	
  



-­‐	
  Comment	
  la	
  réglementation	
  peut-­‐elle	
  constituer	
  un	
  instrument	
  pour	
  mener	
  les	
  politiques	
  
environnementales	
  ?	
  (Hatier	
  p366)	
  
-­‐	
  Qu’est-­‐ce	
  que	
  le	
  développement	
  durable	
  ?	
  (Hachette,	
  p173)	
  
-­‐	
  Dans	
  quelle	
  mesure	
  la	
  croissance	
  économique	
  est-­‐elle	
  source	
  de	
  réchauffement	
  climatique	
  ?	
  (Hachette,	
  
p173)	
  
-­‐	
  Pourquoi	
  le	
  climat	
  est-­‐il	
  un	
  bien	
  public	
  mondial	
  ?	
  (Hachette,	
  p199)	
  
-­‐	
  Présentez	
  les	
  instruments	
  économiques	
  permettant	
  de	
  limiter	
  les	
  émissions	
  de	
  gaz	
  à	
  effet	
  de	
  serre.	
  
(Hachette,	
  p199)	
  
-­‐	
  Illustrez	
  à	
  l’aide	
  d’un	
  exemple	
  l’idée	
  selon	
  laquelle	
  la	
  croissance	
  économique	
  peut	
  menacer	
  la	
  sauvegarde	
  
d’un	
  bien	
  commun.	
  (Nathan,	
  p156)	
  
-­‐	
  Après	
  avoir	
  défini	
  les	
  différents	
  types	
  de	
  capitaux,	
  montrez	
  en	
  quoi	
  les	
  différents	
  types	
  de	
  capitaux	
  sont	
  
soumis	
  au	
  principe	
  de	
  l’accumulation.	
  (Nathan,	
  p156)	
  
-­‐	
  Pour	
  quelles	
  raisons	
  la	
  gestion	
  des	
  biens	
  environnementaux	
  nécessite-­‐t-­‐elle	
  l’intervention	
  publique	
  ?	
  
(Nathan,	
  p180)	
  
-­‐	
  Quels	
  facteurs	
  déterminent	
  l’offre	
  et	
  la	
  demande	
  sur	
  un	
  	
  marché	
  des	
  quotas	
  d’amissions	
  ?	
  (Nathan,	
  p180)	
  
-­‐	
  Expliquez	
  en	
  quoi	
  les	
  marchés	
  de	
  quotas	
  d’émission	
  constituent	
  un	
  instrument	
  de	
  la	
  politique	
  climatique.	
  
(Nathan,	
  p404)	
  
-­‐	
  Quels	
  types	
  de	
  capital	
  concourent	
  au	
  bien-­‐être	
  des	
  populations	
  ?	
  (Nathan,	
  p408)	
  
-­‐	
  Présentez	
  les	
  trois	
  instruments	
  que	
  les	
  pouvoirs	
  publics	
  peuvent	
  utiliser	
  pour	
  mener	
  des	
  politiques	
  
environnementales.	
  (Nathan,	
  p416)	
  
	
  
Epreuve	
  composée	
  Partie	
  2	
  (Après	
  avoir	
  présenté	
  le	
  document,	
  vous…)	
  	
  
-­‐	
  Analysez	
  les	
  relations	
  entre	
  croissance,	
  développement	
  et	
  dégradation	
  de	
  l’environnement.	
  (Bordas,	
  p156)	
  
(tab	
  stat	
  classement	
  empreinte,	
  IDH,	
  PIB/habitant)	
  
-­‐	
  Montrez	
  que	
  la	
  croissance	
  peut	
  influencer,	
  favorablement	
  ou	
  non,	
  la	
  lutte	
  contre	
  la	
  pollution.	
  (Bordas,	
  p178)	
  
(graph	
  stat	
  taux	
  de	
  croissance	
  PIB	
  et	
  émissions	
  CO2)	
  
-­‐	
  Montrez	
  le	
  lien	
  complexe	
  entre	
  PIB	
  et	
  bien-­‐être	
  de	
  la	
  population.	
  (Belin,	
  p184)	
  (tab	
  stat	
  %	
  de	
  la	
  population	
  
satisfait	
  et	
  optimiste)	
  
-­‐	
  Discutez	
  les	
  effets	
  attendus	
  de	
  l’introduction	
  d’une	
  taxe	
  carbone	
  dans	
  l’économie	
  française.	
  (Belin,	
  p206)	
  (tab	
  
stat	
  résultats	
  par	
  secteurs	
  de	
  la	
  fiscalité	
  carbone	
  sur	
  les	
  émissions	
  de	
  CO2)	
  
-­‐	
  Présentez,	
  expliquez	
  et	
  justifiez	
  les	
  effets	
  attendus	
  d’une	
  taxe	
  carbone	
  appliquée	
  aux	
  carburants.	
  (Hatier,	
  
p176)	
  (tab	
  stat	
  simulation	
  des	
  effets	
  d’une	
  taxe	
  carbone	
  sur	
  les	
  carburants)	
  
-­‐	
  Le	
  bonheur	
  dépend-­‐il	
  du	
  revenu	
  ?	
  (Hatier	
  p400)	
  (graph)	
  
-­‐	
  Quelles	
  sont	
  les	
  forces	
  et	
  faiblesses	
  de	
  la	
  France	
  au	
  niveau	
  du	
  développement	
  durable	
  par	
  rapport	
  aux	
  
auteurs	
  membres	
  de	
  l’UE	
  à	
  15	
  ?	
  (Hachette,	
  p173)	
  (grah	
  comparaison	
  France/UE	
  critères	
  dév	
  et	
  DD)	
  
-­‐	
  Montrez	
  comment	
  la	
  notion	
  de	
  développement	
  durable	
  s’est	
  construite	
  progressivement.	
  (Hachette,	
  p199)	
  
(doc	
  frise	
  chronologique)	
  
-­‐	
  Caractérisez	
  le	
  lien	
  entre	
  le	
  bonheur	
  et	
  la	
  consommation	
  de	
  capital	
  naturel.	
  (Nathan,	
  p156)	
  (graph	
  
corrélation	
  espérance	
  de	
  vie	
  heureuse	
  et	
  empreinte	
  écologique)	
  
-­‐	
  Mettez	
  en	
  évidence	
  les	
  principales	
  caractéristiques	
  de	
  l’évolution	
  des	
  prix	
  des	
  permis	
  d’émissions	
  sur	
  le	
  
marché	
  européen.	
  (Nathan,	
  p180)	
  (graph	
  évolution	
  prix	
  CO2)	
  
	
  
Epreuve	
  composée	
  Partie	
  3	
  (A	
  partir	
  du	
  dossier	
  documentaire	
  de	
  vos	
  connaissances	
  …)	
  
-­‐	
  Montrez	
  si	
  une	
  croissance	
  durable	
  dans	
  un	
  monde	
  aux	
  ressources	
  naturelles	
  limitées	
  est	
  possible.	
  (Bordas	
  
p157)	
  
-­‐	
  Etudiez	
  l’efficacité	
  du	
  marché	
  européen	
  du	
  carbone.	
  (Bordas,	
  p178)	
  
-­‐	
  Est-­‐il	
  possible	
  de	
  limiter	
  l’impact	
  de	
  la	
  dégradation	
  du	
  capital	
  naturel	
  ?	
  (Belin,	
  p182)	
  
-­‐	
  A	
  partir	
  du	
  cas	
  de	
  la	
  consommation	
  de	
  viande,	
  illustrez	
  les	
  enjeux	
  du	
  développement	
  durable	
  à	
  l’échelle	
  
mondiale.	
  (Belin,	
  p184)	
  
-­‐	
  Quels	
  sont	
  les	
  enjeux	
  liés	
  à	
  la	
  place	
  et	
  au	
  rôle	
  des	
  pays	
  développés	
  et	
  particulièrement	
  de	
  l’UE	
  dans	
  la	
  lutte	
  
contre	
  le	
  changement	
  climatique	
  ?	
  (Belin,	
  p206)	
  
-­‐	
  Quels	
  sont	
  la	
  nature	
  et	
  l’intérêt	
  des	
  contributions	
  de	
  l’analyse	
  économique	
  à	
  la	
  définition	
  d’une	
  politique	
  
climatique	
  ?	
  (Hatier,	
  p176)	
  
-­‐	
  Quelle	
  est	
  l’ampleur	
  et	
  la	
  nature	
  des	
  conséquences	
  du	
  développement	
  du	
  commerce	
  international	
  sur	
  
l’environnement	
  ?	
  (Hatier	
  p392)	
  
-­‐	
  Montrez	
  que	
  le	
  PIB	
  n’est	
  pas	
  nécessairement	
  un	
  bon	
  indicateur	
  de	
  mesure	
  du	
  bien-­‐être.	
  (Hachette,	
  p174)	
  
-­‐	
  Montrez	
  que	
  l’opinion	
  des	
  consommateurs	
  est	
  importante	
  pour	
  conduire	
  une	
  politique	
  climatique.	
  (Hachette,	
  
p200)	
  



-­‐	
  Montrez	
  que	
  le	
  PIB	
  ne	
  peut	
  être	
  considéré	
  comme	
  une	
  mesure	
  adéquate	
  du	
  bien	
  être.	
  (Nathan,	
  p157)	
  
-­‐	
  Montrez	
  comment	
  le	
  marché	
  peut	
  être	
  mis	
  au	
  service	
  d’une	
  politique	
  climatique.	
  (Nathan,	
  p181)	
  
	
  
Chapitre	
  8	
  :	
  Comment	
  analyser	
  la	
  structure	
  sociale	
  ?	
  
	
  
Dissertation	
  (Dossier	
  de	
  4	
  documents	
  factuels)	
  
-­‐	
  Que	
  reste-­‐t-­‐il	
  des	
  classes	
  sociales	
  aujourd’hui	
  en	
  France	
  ?	
  (Bordas,	
  p205)	
  
-­‐	
  Vous	
  analyserez	
  la	
  pertinence	
  du	
  concept	
  de	
  classes	
  sociales	
  pour	
  comprendre	
  la	
  société	
  d’aujourd’hui.	
  
(Magnard	
  p206)	
  
-­‐	
  Peut-­‐on	
  parler	
  d’un	
  retour	
  des	
  classes	
  sociales	
  aujourd’hui	
  ?	
  (Belin	
  p159)	
  
-­‐	
  La	
  notion	
  de	
  classe	
  sociale	
  est-­‐elle	
  encore	
  pertinente	
  pour	
  analyser	
  la	
  société	
  française	
  ?	
  (Belin	
  p233)	
  
-­‐	
  Qu’est-­‐ce	
  qui	
  différencie	
  la	
  vision	
  marxiste	
  des	
  classes	
  sociales	
  et	
  la	
  vision	
  wébérienne	
  ?	
  (Hatier	
  p202)	
  
-­‐	
  Quels	
  sont	
  les	
  critères	
  de	
  différenciation	
  sociale	
  dans	
  les	
  sociétés	
  postindustrielles	
  ?	
  (Hatier	
  p202)	
  
-­‐	
  La	
  multiplicité	
  des	
  critères	
  de	
  différenciation	
  sociale	
  brouille-­‐t-­‐elle	
  les	
  frontières	
  de	
  classe	
  ?	
  (Hatier	
  p378)	
  
-­‐	
  Analysez	
  le	
  groupe	
  social	
  foré	
  par	
  les	
  jeunes.	
  (Hachette	
  p224)	
  
-­‐	
  Y’a-­‐t-­‐il	
  moyennisation	
  de	
  la	
  société	
  française	
  ?	
  (Nathan	
  p203)	
  
	
  
Epreuve	
  composée	
  Partie	
  1	
  (Questions	
  de	
  cours	
  sans	
  document)	
  
-­‐	
  Comment	
  Marx	
  définit-­‐il	
  les	
  classes	
  sociales	
  ?	
  (Bordas,	
  p205)	
  
-­‐	
  Quels	
  processus	
  conduisent	
  à	
  la	
  remise	
  en	
  cause	
  des	
  frontières	
  entre	
  les	
  classes	
  sociales	
  ?	
  (Bordas,	
  p205)	
  
-­‐	
  Expliquez	
  la	
  persistance	
  des	
  conflits	
  de	
  classes	
  dans	
  les	
  sociétés	
  contemporaines.	
  (Magnard	
  p386)	
  
-­‐	
  Distinguez	
  l’approche	
  des	
  classes	
  sociales	
  chez	
  Karl	
  Marx	
  et	
  Max	
  Weber.	
  (Belin	
  p230)	
  
-­‐	
  Présentez	
  2	
  facteurs	
  qui	
  permettent	
  d’expliquer	
  l’émergence	
  de	
  l’idée	
  de	
  moyennisation	
  de	
  la	
  société	
  
française	
  durant	
  les	
  Trente	
  glorieuses.	
  (Belin	
  p158)	
  
-­‐	
  Dans	
  quelle	
  mesure	
  peut-­‐on	
  décrire	
  l’analyse	
  de	
  Pierre	
  Bourdieu	
  comme	
  une	
  analyse	
  en	
  termes	
  de	
  classe	
  
sociale	
  ?	
  (Belin	
  p232)	
  
-­‐	
  Distinguez	
  les	
  notions	
  de	
  classes	
  sociales	
  et	
  de	
  stratification	
  sociale.	
  (Belin	
  p232)	
  
-­‐	
  Quels	
  sont	
  les	
  critères	
  permettant	
  d’étudier	
  la	
  différenciation	
  sociale	
  ?	
  (Hatier	
  p108)	
  
-­‐	
  Comment	
  Max	
  Weber	
  analyse-­‐t-­‐il	
  la	
  structure	
  sociale	
  ?	
  (Hachette	
  p224)	
  
-­‐	
  Qu’est-­‐ce	
  qu’une	
  CSP	
  ?	
  (Hachette	
  p224)	
  
-­‐	
  Comparez	
  les	
  analyses	
  en	
  termes	
  de	
  «	
  classes	
  sociales	
  »	
  et	
  de	
  PCS.	
  (Nathan	
  p204)	
  
-­‐	
  Quels	
  sont	
  les	
  critères	
  d’appartenance	
  et	
  de	
  différenciation	
  sociale	
  ?	
  (Nathan	
  p204)	
  
-­‐	
  En	
  quoi	
  les	
  approches	
  de	
  la	
  stratification	
  sociale	
  de	
  Karl	
  Marx	
  et	
  de	
  Max	
  Weber	
  se	
  distinguent-­‐elles	
  ?	
  (Nathan	
  
p404)	
  
-­‐	
  En	
  quoi	
  les	
  classes	
  sociales	
  chez	
  Marx	
  se	
  distinguent-­‐elles	
  des	
  CSP	
  ?	
  (Nathan	
  p416)	
  
-­‐	
  Qu’est-­‐ce	
  qui	
  distingue	
  l’approche	
  des	
  classes	
  sociales	
  chez	
  Marx	
  et	
  Weber	
  ?	
  (Sujet	
  zéro)	
  
	
  
Epreuve	
  composée	
  Partie	
  2	
  (Après	
  avoir	
  présenté	
  le	
  document,	
  vous…)	
  	
  
-­‐	
  Montrez	
  comment	
  la	
  multiplicité	
  des	
  critères	
  de	
  différenciation	
  sociale	
  brouille	
  les	
  frontières	
  de	
  classes.	
  
(Bordas,	
  p205)	
  (texte	
  extrait	
  entretien	
  Lahire)	
  
-­‐	
  Montrez	
  si	
  le	
  document	
  permet	
  de	
  nuancer	
  une	
  représentation	
  de	
  la	
  société	
  en	
  termes	
  de	
  classes	
  sociales.	
  
(Belin	
  p232)	
  (tab	
  stat	
  PCS/sentiment	
  d’appartenance)	
  
-­‐	
  Les	
  CSP	
  sont-­‐elles	
  un	
  outils	
  pertinent	
  pour	
  analyser	
  les	
  pratiques	
  culturelles	
  ?	
  (Hatier	
  p202)	
  (graph	
  temps	
  
hebdo	
  consacré	
  aux	
  écrans	
  selon	
  variable	
  socio-­‐démo	
  dont	
  2	
  PCS)	
  
-­‐	
  Comparez	
  les	
  structures	
  socioprofessionnelles	
  de	
  ces	
  pays	
  européens.	
  (Hachette	
  p224)	
  (tab	
  stat)	
  
-­‐	
  Y’a-­‐t-­‐il	
  convergence	
  des	
  modes	
  de	
  vie	
  ?	
  (Nathan	
  p204)	
  (tab	
  stat	
  PCS	
  conso	
  et	
  pratiques	
  culturelles)	
  
	
  
	
  
Epreuve	
  composée	
  Partie	
  3	
  (A	
  partir	
  du	
  dossier	
  documentaire	
  de	
  vos	
  connaissances	
  …)	
  
-­‐	
  Pourquoi	
  il	
  est	
  difficile	
  de	
  considérer	
  les	
  travailleurs	
  non	
  qualifiés	
  comme	
  une	
  classe	
  sociale	
  ?	
  (Bordas,	
  p205)	
  
-­‐	
  Discutez	
  du	
  rôle	
  que	
  joue	
  aujourd’hui	
  le	
  revenu	
  sans	
  la	
  différenciation	
  sociale.	
  (Belin	
  p232)	
  
-­‐	
  Les	
  classes	
  sociales	
  ont-­‐elles	
  disparu	
  ?	
  (Hatier	
  p202)	
  
-­‐	
  Sur	
  quels	
  critères	
  la	
  construction	
  des	
  classes	
  sociales	
  repose-­‐t-­‐elle	
  ?	
  (Hachette	
  p226)	
  
-­‐	
  Caractérisez	
  le	
  salariat	
  non	
  qualifié	
  et	
  son	
  évolution	
  puis	
  demandez-­‐vous	
  s’il	
  peut	
  constituer	
  une	
  classe	
  
sociale.	
  (Nathan	
  p205)	
  
-­‐	
  Quels	
  sont	
  les	
  effets	
  de	
  l’évolution	
  de	
  la	
  structure	
  des	
  professions	
  sur	
  la	
  mobilité	
  sociale	
  ?	
  (Sujet	
  zéro)	
  
	
  
	
  



Chapitre	
  9	
  :	
  Comment	
  rendre	
  compte	
  de	
  la	
  mobilité	
  sociale	
  ?	
  
	
  
Dissertation	
  (Dossier	
  de	
  4	
  documents	
  factuels)	
  
-­‐	
  En	
  quoi	
  l’évolution	
  des	
  la	
  structure	
  socioprofessionnelle	
  influence-­‐t-­‐elle	
  la	
  mobilité	
  sociale	
  ?	
  (Bordas,	
  p229)	
  
-­‐	
  Dans	
  quelle	
  mesure	
  les	
  classes	
  moyennes	
  sont-­‐elles	
  menacées	
  de	
  déclassement	
  ?	
  (Magnard	
  p230)	
  
-­‐	
  Quelle	
  est	
  la	
  réalité	
  sociale	
  du	
  déclassement	
  ?	
  (Belin	
  p261)	
  
-­‐	
  Comment	
  peut-­‐on	
  expliquer	
  le	
  rôle	
  de	
  la	
  famille	
  dans	
  le	
  processus	
  de	
  mobilité	
  sociale	
  ?	
  (Belin	
  p263)	
  
-­‐	
  L’ascenseur	
  social	
  est-­‐il	
  en	
  panne	
  ?	
  (Hatier	
  p	
  226)	
  
-­‐	
  Montrez	
  que	
  le	
  déclassement	
  peut	
  prendre	
  différentes	
  formes.	
  (Hachette	
  p248)	
  
-­‐	
  L’école	
  est-­‐elle	
  source	
  de	
  mobilité	
  sociale	
  ?	
  (Nathan	
  p225)	
  
	
  
Epreuve	
  composée	
  Partie	
  1	
  (Questions	
  de	
  cours	
  sans	
  document)	
  
-­‐	
  Distinguez	
  mobilité	
  observée	
  et	
  mobilité	
  relative.	
  (Bordas,	
  p230)	
  
-­‐	
  Comment	
  mesurer	
  le	
  déclassement	
  social	
  ?	
  (Bordas,	
  p230)	
  
-­‐	
  En	
  quoi	
  est-­‐il	
  important	
  de	
  distinguer	
  la	
  mobilité	
  observée	
  de	
  la	
  fluidité	
  sociale	
  dans	
  l’analyse	
  de	
  la	
  mobilité	
  
sociale	
  ?	
  (Magnard	
  p386)	
  
-­‐	
  comment	
  distingue-­‐t-­‐on	
  mobilité	
  observée	
  et	
  fluidité	
  sociale	
  ?	
  (Belin	
  p262)	
  
-­‐	
  Quelles	
  sont	
  les	
  limites	
  des	
  tables	
  de	
  mobilité	
  dans	
  l’appréhension	
  de	
  ma	
  mobilité	
  sociale	
  ?	
  (Belin	
  p262)	
  
-­‐	
  Comment	
  peut-­‐on	
  expliquer	
  le	
  paradoxe	
  d’Anderson	
  ?	
  (Hatier	
  p392)	
  
-­‐	
  Dans	
  l’analyse	
  de	
  la	
  mobilité	
  sociale,	
  qu’est-­‐ce	
  que	
  le	
  déclassement	
  ?	
  (Hatier	
  p400)	
  
-­‐	
  Qu’est-­‐ce	
  que	
  le	
  paradoxe	
  d’Anderson	
  ?	
  (Hachette	
  p249)	
  
-­‐	
  Pourquoi	
  distingue-­‐t-­‐on	
  mobilité	
  observée	
  et	
  fluidité	
  sociale	
  ?	
  (Hachette	
  p249)	
  
-­‐	
  Quelles	
  sont	
  les	
  différentes	
  formes	
  de	
  mobilité	
  sociale	
  ?	
  (Nathan	
  p226)	
  
-­‐	
  Quelles	
  sont	
  les	
  fores	
  et	
  les	
  raisons	
  du	
  déclassement	
  d’une	
  partie	
  des	
  actifs	
  ?	
  (Nathan	
  p226)	
  
-­‐	
  Distinguez	
  différentes	
  formes	
  de	
  mobilité	
  sociale.	
  (Nathan	
  p412)	
  
	
  
Epreuve	
  composée	
  Partie	
  2	
  (Après	
  avoir	
  présenté	
  le	
  document,	
  vous…)	
  	
  
-­‐	
  Présentez	
  et	
  caractérisez	
  la	
  mobilité	
  sociale	
  des	
  femmes.	
  (Bordas,	
  p230)	
  (table	
  de	
  destinée)	
  
-­‐	
  Analysez	
  la	
  pertinence	
  du	
  concept	
  de	
  reproduction	
  sociale.	
  (Bordas	
  p397)	
  (graph	
  avenir	
  prof	
  des	
  fils	
  de	
  
cadres/ouvriers/employés/PI)	
  
-­‐	
  Caractérisez	
  le	
  phénomène	
  que	
  le	
  document	
  met	
  en	
  évidence.	
  (Belin	
  p260)	
  (tab	
  stat	
  niveau	
  d’étude	
  
génération	
  98	
  et	
  «	
  niveau	
  d’emploi	
  »	
  sentiment)	
  
-­‐	
  Comment	
  le	
  document	
  permet	
  de	
  mettre	
  en	
  évidence	
  l’évolution	
  de	
  la	
  mobilité	
  sociale	
  ?	
  (Belin	
  p262)	
  (tab	
  
stat	
  devenir	
  professionnel	
  des	
  fils	
  de	
  par	
  génération)	
  
-­‐	
  L’avenir	
  professionnel	
  des	
  fils	
  de	
  cadres	
  est-­‐il	
  très	
  différent	
  de	
  celui	
  des	
  fils	
  ayant	
  d’autres	
  origines	
  sociales	
  ?	
  
(Hatier	
  p386)	
  (graph	
  avenir	
  prof)	
  
-­‐	
  Comparez	
  les	
  destinées	
  et	
  recrutements	
  des	
  cadres	
  et	
  des	
  ouvriers.	
  (Hachette	
  p249)	
  
-­‐	
  Comparez	
  la	
  mobilité	
  des	
  filles	
  avec	
  celle	
  des	
  fils	
  ?	
  (Nathan	
  p226)	
  (tab	
  destinée	
  H	
  et	
  F)	
  
-­‐	
  Analysez	
  les	
  différences	
  internationales	
  de	
  mobilité	
  sociale	
  qui	
  ressortent	
  dans	
  le	
  document.	
  (Nathan	
  p408)	
  
(graph	
  élasticité	
  revenu	
  des	
  fils	
  /	
  revenus	
  des	
  pères)	
  
	
  
Epreuve	
  composée	
  Partie	
  3	
  (A	
  partir	
  du	
  dossier	
  documentaire	
  de	
  vos	
  connaissances	
  …)	
  
-­‐	
  Montrez	
  que	
  l’école	
  est	
  un	
  déterminant	
  important	
  de	
  la	
  mobilité	
  sociale.	
  (Bordas,	
  p230)	
  
-­‐	
  Quelle	
  est	
  la	
  contribution	
  de	
  la	
  famille	
  à	
  la	
  mobilité	
  sociale	
  ascendante	
  ?	
  (Magnard	
  p389)	
  
-­‐	
  Quel	
  est	
  le	
  rôle	
  de	
  l’école	
  dans	
  la	
  reproduction	
  sociale	
  ?	
  (Belin	
  p262)	
  
-­‐	
  Dans	
  quelle	
  mesure	
  la	
  progression	
  de	
  l’emploi	
  féminin	
  a-­‐t-­‐elle	
  favorisé	
  la	
  mobilité	
  sociale	
  ascendante	
  des	
  
hommes	
  ?	
  (Hatier	
  p394)	
  
-­‐	
  Vous	
  présenterez	
  les	
  principaux	
  déterminants	
  de	
  la	
  mobilité	
  sociale.	
  (Hachette	
  p250)	
  
-­‐	
  Comment	
  l’origine	
  sociale	
  influence-­‐t-­‐elle	
  la	
  destinée	
  de	
  chacun	
  ?	
  (Nathan	
  p227)	
  
-­‐	
  Montrez	
  l’intérêt	
  et	
  les	
  limites	
  des	
  tables	
  de	
  mobilité	
  sociale.	
  (Nathan	
  p417)	
  
	
  
Chapitre	
  10	
  :	
  Quels	
  liens	
  sociaux	
  dans	
  des	
  sociétés	
  où	
  s’affirme	
  le	
  primat	
  de	
  l’individu	
  ?	
  
	
  
Dissertation	
  (Dossier	
  de	
  4	
  documents	
  factuels)	
  
-­‐	
  Quel	
  est	
  le	
  rôle	
  de	
  l’école	
  dans	
  l’intégration	
  sociale	
  aujourd’hui	
  ?	
  (Bordas,	
  p254)	
  
-­‐	
  Vous	
  montrerez	
  que	
  le	
  rôle	
  de	
  la	
  famille	
  dans	
  l’intégration	
  sociale	
  a	
  évolué.	
  (Bordas	
  p396)	
  
-­‐	
  Quels	
  sont	
  les	
  effets	
  de	
  la	
  montée	
  de	
  l’individualisme	
  sur	
  la	
  cohésion	
  sociale	
  ?	
  (Magnard	
  p254)	
  
-­‐	
  Quel	
  rôle	
  joue	
  le	
  travail	
  dans	
  l’intégration	
  sociale	
  ?	
  (Belin	
  p291)	
  



-­‐	
  En	
  quoi	
  l’école	
  favorise-­‐t-­‐elle	
  la	
  cohésion	
  sociale	
  ?	
  (Belin	
  p293)	
  
-­‐	
  La	
  pauvreté	
  est-­‐elle	
  un	
  obstacle	
  à	
  la	
  cohésion	
  sociale	
  ?	
  (Hatier	
  p	
  250)	
  
-­‐	
  Analysez	
  les	
  formes	
  du	
  lien	
  social	
  aujourd’hui	
  en	
  France.	
  (Hachette	
  p276)	
  
-­‐	
  Comment	
  la	
  cohésion	
  sociale	
  s’est-­‐elle	
  transformée	
  depuis	
  environ	
  cinquante	
  ans	
  ?	
  (Nathan	
  p247)	
  
-­‐	
  l’évolution	
  du	
  rôle	
  des	
  instances	
  d’intégration	
  remet-­‐elle	
  en	
  cause	
  l’intégration	
  sociale	
  ?	
  (Nathan	
  p410)	
  
-­‐	
  Quelle	
  est	
  la	
  contribution	
  de	
  l’école	
  à	
  la	
  cohésion	
  sociale	
  en	
  France	
  aujourd’hui	
  ?	
  (Sujet	
  zéro)	
  
	
  
Epreuve	
  composée	
  Partie	
  1	
  (Questions	
  de	
  cours	
  sans	
  document)	
  
-­‐	
  Présentez	
  l’évolution	
  des	
  formes	
  de	
  solidarité	
  selon	
  Durkheim.	
  (Bordas,	
  p253)	
  
-­‐	
  Comment	
  l’Etat	
  contribue-­‐t-­‐il	
  à	
  la	
  cohésion	
  sociale	
  ?	
  (Bordas,	
  p253)	
  
-­‐	
  En	
  quoi	
  le	
  rôle	
  de	
  l’école	
  dans	
  l’intégration	
  sociale	
  s’est	
  transformé	
  dans	
  les	
  sociétés	
  contemporaines	
  ?	
  
(Bordas	
  p400)	
  
-­‐	
  Montrez	
  que	
  les	
  transformations	
  de	
  la	
  structure	
  familiale	
  conduisent	
  à	
  en	
  organiser	
  les	
  solidarités	
  sur	
  la	
  base	
  
de	
  logiques	
  plus	
  largement	
  affinitaires.	
  (Belin	
  p292)	
  
-­‐	
  En	
  quoi	
  la	
  solidarité	
  organique	
  se	
  distingue-­‐t-­‐elle	
  de	
  la	
  solidarité	
  mécanique	
  chez	
  Durkheim	
  ?	
  (Belin	
  p292)	
  
-­‐	
  Comparez	
  la	
  solidarité	
  organique	
  et	
  la	
  solidarité	
  mécanique.	
  (Hatier	
  p390)	
  
-­‐	
  Comment	
  se	
  réalise	
  l’intégration	
  sociale	
  d’un	
  individu	
  ?	
  (Hatier	
  p396)	
  
-­‐	
  Différenciez	
  solidarité	
  mécanique	
  et	
  solidarité	
  organique.	
  (Hachette	
  p277)	
  
-­‐	
  Commet	
  le	
  développement	
  de	
  l’individualisme	
  se	
  traduit-­‐il	
  dans	
  les	
  familles	
  ?	
  (Hachette	
  p277)	
  
-­‐	
  Distinguez	
  la	
  solidarité	
  mécanique	
  et	
  la	
  solidarité	
  organique.	
  (Nathan	
  p248)	
  
-­‐	
  Quel	
  est	
  le	
  lien	
  entre	
  la	
  socialisation	
  et	
  la	
  sociabilité	
  ?	
  (Nathan	
  p248)	
  
	
  
	
  
Epreuve	
  composée	
  Partie	
  2	
  (Après	
  avoir	
  présenté	
  le	
  document,	
  vous…)	
  	
  
-­‐	
  Etudiez	
  l’impact	
  du	
  revenu	
  dans	
  l’intégration	
  sociale.	
  (Bordas,	
  p252)	
  
-­‐	
  Montrez	
  que	
  différentes	
  formes	
  de	
  solidarité	
  coexistent	
  en	
  France	
  aujourd’hui.	
  (Bordasp398)	
  (tab	
  stat	
  sur	
  le	
  
fondement	
  de	
  l’identité)	
  
-­‐	
  Expliquez	
  les	
  effets	
  du	
  chômage	
  sur	
  l’intégration	
  sociale	
  des	
  individus.	
  (Belin	
  p290)	
  (Texte	
  entretien	
  La	
  
misère	
  du	
  monde)	
  
-­‐	
  Dans	
  quelle	
  mesure	
  le	
  document	
  permet	
  de	
  tempérer	
  le	
  diagnostic	
  de	
  disparition	
  des	
  formes	
  traditionnelles	
  
de	
  solidarité.	
  (Belin	
  p292)	
  (texte	
  Cœur	
  de	
  banlieue-­‐Lepoutre)	
  
-­‐	
  La	
  pauvreté	
  des	
  enfants	
  peut-­‐elle	
  s’expliquer	
  selon	
  l’activité	
  des	
  parents	
  ?	
  (Hatier	
  p388)	
  
-­‐	
  Mettez	
  en	
  évidence	
  les	
  caractéristiques	
  de	
  l’engagement	
  associatif	
  en	
  France.	
  (Hachette	
  p277)	
  (tab	
  stat	
  tx	
  
d’adhésion	
  à	
  différents	
  types	
  d’asso/PCS	
  et	
  niveau	
  d’étude)	
  
-­‐	
  Quels	
  sont	
  les	
  facteurs	
  du	
  processus	
  d’individualisation	
  ?	
  (Nathan	
  p248)	
  (tab	
  stat	
  évol	
  familles	
  selon	
  nombre	
  
d’enfants)	
  
	
  
Epreuve	
  composée	
  Partie	
  3	
  (A	
  partir	
  du	
  dossier	
  documentaire	
  de	
  vos	
  connaissances	
  …)	
  
-­‐	
  Analysez	
  l’importance	
  du	
  rôle	
  joué	
  par	
  les	
  solidarités	
  familiales	
  aujourd’hui.	
  (Bordas,	
  p253)	
  
-­‐	
  Quels	
  sont	
  les	
  effets	
  des	
  évolutions	
  du	
  marché	
  du	
  travail	
  sur	
  l’intégration	
  sociale	
  ?	
  (Belin	
  p292)	
  
-­‐	
  En	
  quoi	
  le	
  lien	
  entre	
  travail	
  et	
  intégration	
  sociale	
  est-­‐il	
  fragilisé	
  par	
  certaines	
  évolutions	
  de	
  l’emploi	
  ?	
  (Hatier	
  
p366)	
  
-­‐	
  Comment	
  le	
  travail	
  favorise	
  l’intégration	
  sociale	
  ?	
  (Hatier	
  p396)	
  
-­‐	
  Montrez	
  que	
  la	
  massification	
  de	
  l’école	
  n’a	
  pas	
  permis	
  de	
  faire	
  disparaître	
  toutes	
  les	
  inégalités.	
  (Hachette	
  
p278)	
  
-­‐	
  Montrez	
  que	
  le	
  travail	
  ne	
  permet	
  pas	
  à	
  lui	
  seul	
  d’assurer	
  la	
  cohésion	
  sociale.	
  (Nathan	
  p249)	
  
	
  
Chapitre	
  11	
  :	
  La	
  conflictualité	
  sociale	
  :	
  pathologie,	
  facteur	
  de	
  cohésion	
  ou	
  moteur	
  du	
  changement	
  social	
  ?	
  
	
  
Dissertation	
  (Dossier	
  de	
  4	
  documents	
  factuels)	
  
-­‐	
  Vous	
  analyserez	
  la	
  place	
  des	
  conflits	
  du	
  travail	
  dans	
  les	
  conflits	
  sociaux	
  contemporains.	
  (Bordas,	
  p279)	
  
-­‐	
  Le	
  développement	
  des	
  conflits	
  sociaux	
  remet-­‐il	
  en	
  cause	
  la	
  cohésion	
  de	
  la	
  société	
  ?	
  (Magnard	
  p278)	
  
-­‐	
  Dans	
  quelle	
  mesure	
  l’évolution	
  des	
  structures	
  économiques	
  et	
  sociales	
  conduit-­‐elle	
  à	
  un	
  affaiblissement	
  des	
  
conflits	
  ?	
  (Belin	
  p316)	
  
-­‐	
  Analysez	
  les	
  principales	
  évolutions	
  des	
  conflits	
  du	
  travail	
  en	
  France	
  depuis	
  les	
  années	
  1980.	
  (Belin	
  p319)	
  
-­‐	
  Observe-­‐t-­‐on	
  une	
  diminution	
  des	
  conflits	
  du	
  travail	
  ?	
  (Hatier	
  p380)	
  
-­‐	
  En	
  quoi	
  les	
  conflits	
  sociaux	
  contribuent-­‐is	
  à	
  la	
  cohésion	
  sociale	
  ?	
  (Hachette	
  p300)	
  
-­‐	
  Peut-­‐on	
  parler	
  d’une	
  crise	
  des	
  syndicats	
  ?	
  (Nathan	
  p269)	
  



	
  
Epreuve	
  composée	
  Partie	
  1	
  (Questions	
  de	
  cours	
  sans	
  document)	
  
-­‐	
  Qu’est-­‐ce	
  que	
  le	
  paradoxe	
  d’Olson	
  ?	
  (Bordas,	
  p280)	
  
-­‐	
  Quelles	
  sont	
  les	
  caractéristiques	
  des	
  nouveaux	
  mouvements	
  sociaux	
  ?	
  (Bordas,	
  p280)	
  
-­‐	
  Qu’est-­‐ce	
  qui	
  fait	
  que	
  les	
  conflits	
  sociaux	
  sont	
  moteurs	
  de	
  changement	
  social	
  ?	
  (Magnard,	
  p384)	
  
-­‐	
  Montrez	
  que	
  les	
  conflits	
  sociaux	
  peuvent	
  participer	
  au	
  changement	
  social.	
  (Belin	
  p318)	
  
-­‐	
  Présentez	
  des	
  facteurs	
  participant	
  à	
  la	
  régulation	
  des	
  conflits	
  du	
  travail.	
  (Belin	
  p318)	
  
-­‐	
  Qu’entend-­‐on	
  par	
  «	
  régulation	
  des	
  conflits	
  »	
  ?	
  Vous	
  préciserez	
  quelles	
  sont	
  les	
  institutions	
  qui	
  participent	
  à	
  
cette	
  régulation	
  et	
  indiquerez	
  quelques	
  règles	
  en	
  vigueur.	
  	
  (Hatier	
  p274)	
  
-­‐	
  En	
  quoi	
  la	
  conflictualité	
  est-­‐elle	
  facteur	
  de	
  cohésion	
  sociale	
  ?	
  (Hatier	
  p274)	
  
-­‐	
  Quelles	
  sont	
  les	
  fonctions	
  d’un	
  syndicat	
  ?	
  (Hachette	
  p301)	
  
-­‐	
  Quelles	
  mutations	
  les	
  conflits	
  sociaux	
  ont-­‐ils	
  connu	
  depuis	
  les	
  années	
  1960	
  ?	
  (Hachette	
  p301)	
  
-­‐	
  Toute	
  action	
  collective	
  constitue-­‐t-­‐elle	
  un	
  mouvement	
  social	
  ?	
  (Nathan	
  p270)	
  
-­‐	
  Quelles	
  formes	
  la	
  régulation	
  des	
  conflits	
  peut-­‐elle	
  prendre	
  ?	
  (Nathan	
  p270)	
  
	
  
	
  
Epreuve	
  composée	
  Partie	
  2	
  (Après	
  avoir	
  présenté	
  le	
  document,	
  vous…)	
  	
  
-­‐	
  Analysez	
  les	
  déterminants	
  de	
  l’adhésion	
  à	
  un	
  syndicat.	
  (Bordas,	
  p280)	
  (tab	
  stat	
  taux	
  de	
  syndicalisation	
  selon	
  
différentes	
  variables)	
  
-­‐	
  Comment	
  la	
  présence	
  de	
  représentants	
  des	
  salariés	
  modifie	
  les	
  conflits	
  au	
  sein	
  des	
  entreprises.	
  (Belin	
  p318)	
  
(tab	
  stat)	
  
-­‐	
  Peut-­‐on	
  dire	
  que	
  la	
  France	
  est	
  un	
  pays	
  plus	
  «	
  gréviste	
  »	
  que	
  les	
  autres	
  pays	
  développés	
  ?	
  (Hatier	
  p274)	
  (texte	
  
Groux/Pernot)	
  
-­‐	
  Les	
  conflits	
  sociaux	
  s’expliquent-­‐ils	
  toujours	
  par	
  la	
  situation	
  économique	
  ?	
  (Hachette	
  p301)	
  (graph	
  évol	
  tx	
  
chômage	
  et	
  grèves)	
  
-­‐	
  Mettez	
  en	
  évidence	
  les	
  principaux	
  déterminants	
  de	
  la	
  présence	
  syndicale	
  sur	
  le	
  lieu	
  de	
  travail	
  et	
  de	
  
l’adhésion	
  à	
  un	
  syndicat.	
  (Nathan	
  p270)	
  (tab	
  stat)	
  
-­‐	
  Comment	
  le	
  document	
  permet	
  de	
  caractériser	
  la	
  présence	
  syndicale	
  sur	
  les	
  lieux	
  de	
  travail	
  en	
  France	
  ?	
  
(Nathan	
  p404)	
  (graph	
  %présence	
  syndicat	
  et	
  taille	
  -­‐	
  type	
  d’entreprises)	
  
	
  
Epreuve	
  composée	
  Partie	
  3	
  (A	
  partir	
  du	
  dossier	
  documentaire	
  de	
  vos	
  connaissances	
  …)	
  
-­‐	
  Analysez	
  le	
  rôle	
  joué	
  par	
  les	
  mouvements	
  sociaux	
  dans	
  la	
  cohésion	
  sociale.	
  (Bordas,	
  p280)	
  
-­‐	
  L’évolution	
  des	
  conflits	
  du	
  travail	
  a-­‐t-­‐elle	
  favorisé	
  le	
  déclin	
  du	
  syndicalisme	
  en	
  France	
  ?	
  (Magnard	
  p275)	
  
-­‐	
  Montrez	
  que	
  le	
  conflit	
  peut	
  apparaître	
  comme	
  pathologique	
  de	
  l’intégration	
  comme	
  facteur	
  de	
  cohésion.	
  
(Belin	
  p318)	
  
-­‐	
  En	
  quoi	
  la	
  présence	
  syndicale	
  peut-­‐elle	
  être	
  utile	
  dans	
  une	
  entreprise	
  ?	
  (Hatier	
  p274)	
  
-­‐	
  Peut-­‐on	
  considérer	
  les	
  conflits	
  sociaux	
  comme	
  une	
  pathologie	
  de	
  l’intégration	
  ?	
  (Hachette	
  p302)	
  
-­‐	
  Montrez	
  comment	
  les	
  transformation	
  de	
  l’organisation	
  du	
  travail	
  peuvent	
  modifier	
  les	
  modalités	
  
d’expression	
  des	
  conflits	
  sociaux.	
  (Nathan	
  p271)	
  
	
  
Chapitre	
  12	
  :	
  Comment	
  analyser	
  et	
  expliquer	
  les	
  inégalités	
  ?	
  
	
  
Dissertation	
  (Dossier	
  de	
  4	
  documents	
  factuels)	
  
-­‐	
  Comment	
  peut-­‐on	
  expliquer	
  le	
  caractère	
  cumulatif	
  des	
  inégalités	
  économiques	
  et	
  sociales	
  ?	
  (Bordas	
  p302)	
  
-­‐	
  Quel	
  est	
  le	
  rôle	
  du	
  capital	
  culturel	
  dans	
  la	
  détermination	
  de	
  la	
  position	
  sociale	
  des	
  individus	
  ?	
  (Bordas	
  p393)	
  
-­‐	
  Comment	
  peut-­‐on	
  expliquer	
  les	
  inégalités	
  de	
  revenus	
  ?	
  (Magnard	
  p304)	
  
-­‐	
  Comment	
  expliquer	
  la	
  persistance	
  des	
  inégalités	
  dans	
  les	
  pays	
  développés	
  ?	
  (Belin	
  p343)	
  
-­‐	
  Peut-­‐on	
  parler	
  de	
  renouveau	
  des	
  inégalités	
  ?	
  (Belin	
  p345)	
  
-­‐	
  Comment	
  expliquer	
  les	
  inégalités	
  de	
  réussite	
  scolaire	
  en	
  France	
  aujourd’hui	
  ?	
  (Hatier	
  p298)	
  
-­‐	
  Filles	
  et	
  garçons	
  sont-­‐ils	
  égaux	
  devant	
  la	
  réussite	
  scolaire	
  ?	
  (Hatier	
  p298)	
  
-­‐	
  Actuellement,	
  en	
  France,	
  pourquoi	
  le	
  milieu	
  social	
  influence-­‐t-­‐il	
  davantage	
  la	
  réussite	
  scolaire	
  que	
  dans	
  
d’autres	
  pays	
  ?	
  (Hatier	
  p298)	
  
-­‐	
  Quels	
  sont	
  les	
  liens	
  entre	
  inégalités	
  scolaires	
  et	
  milieu	
  social	
  ?	
  (Hatier	
  p298)	
  
-­‐	
  Montrez	
  que	
  l’accès	
  à	
  la	
  propriété	
  s’inscrit	
  dans	
  un	
  processus	
  cumulatif	
  d’inégalités.	
  (Hachette	
  p328)	
  
-­‐	
  Comment	
  expliquer	
  le	
  maintien	
  des	
  inégalités	
  dans	
  les	
  pays	
  développés	
  ?	
  (Nathan	
  p293)	
  
	
  
Epreuve	
  composée	
  Partie	
  1	
  (Questions	
  de	
  cours	
  sans	
  document)	
  
-­‐	
  Comment	
  peut-­‐on	
  mesurer	
  les	
  inégalités	
  économiques	
  ?	
  (Bordas,	
  p301)	
  



-­‐	
  Montrez	
  qu’il	
  existe	
  des	
  inégalités	
  de	
  genre.	
  (Bordas,	
  p301)	
  
-­‐	
  Montrez	
  que	
  les	
  inégalités	
  sont	
  cumulatives.	
  (Belin	
  p344)	
  
-­‐	
  Comment	
  peut-­‐on	
  mesurer	
  les	
  inégalités	
  ?	
  (Belin	
  p344)	
  
-­‐	
  Comment	
  peut-­‐on	
  mesurer	
  les	
  inégalités	
  économiques	
  ?	
  (Hatier	
  p366)	
  
-­‐	
  Expliquez	
  comment	
  une	
  inégalité	
  de	
  nature	
  économique	
  peut	
  entraîner	
  une	
  inégalité	
  face	
  à	
  la	
  représentation	
  
politique.	
  (Hatier	
  p386)	
  
-­‐	
  Les	
  inégalités	
  de	
  salaire	
  dans	
  ‘emploi	
  sont-­‐elles	
  toujours	
  liées	
  à	
  des	
  discriminations	
  ?	
  (Hatier	
  p394)	
  
-­‐	
  Comment	
  les	
  inégalités	
  de	
  revenu	
  se	
  manifeste-­‐t-­‐elle	
  ?	
  (Hachette	
  p329)	
  
-­‐	
  Montrez	
  que	
  les	
  inégalités	
  économiques	
  et	
  socioculturelles,	
  bien	
  que	
  différentes,	
  ne	
  sont	
  pas	
  indépendantes.	
  
(Hachette	
  p329)	
  
-­‐	
  Quels	
  facteurs	
  permettent	
  d’expliquer	
  les	
  inégalités	
  de	
  salaires	
  ?	
  (Nathan	
  p294)	
  
-­‐	
  Pourquoi	
  les	
  inégalités	
  de	
  patrimoine	
  sont-­‐elles	
  centrales	
  pour	
  expliquer	
  les	
  inégalités	
  économique	
  et	
  
sociales	
  ?	
  (Nathan	
  p294)	
  
	
  
Epreuve	
  composée	
  Partie	
  2	
  (Après	
  avoir	
  présenté	
  le	
  document,	
  vous…)	
  	
  
-­‐	
  Caractérisez	
  les	
  inégalités	
  mises	
  en	
  évidence	
  par	
  le	
  document.	
  (Bordas,	
  p301)	
  (graph	
  taux	
  de	
  départ	
  en	
  
vacances	
  selon	
  la	
  PCS)	
  
-­‐	
  En	
  quoi	
  le	
  document	
  permet	
  de	
  caractériser	
  les	
  inégalités	
  d’accès	
  au	
  logement.	
  (Magnard	
  p388)	
  (tab	
  stat	
  
type	
  logement	
  et	
  variables	
  socio-­‐démo)	
  
-­‐	
  Analysez	
  l’évolution	
  des	
  inégalités	
  dans	
  différents	
  pays	
  de	
  l’OCDE.	
  (Belin	
  p342)	
  (tab	
  stat	
  variation	
  D1,	
  D9	
  de	
  
revenu)	
  
-­‐	
  Avec	
  un	
  vocabulaire	
  précis,	
  analysez	
  la	
  distribution	
  des	
  revenus	
  en	
  France	
  en	
  2008.	
  (Belin	
  p344)	
  (tab	
  stat	
  
distrib	
  salaires)	
  
-­‐	
  Analysez	
  les	
  effets	
  sur	
  l’Assemblée	
  nationale	
  de	
  la	
  loi	
  sur	
  la	
  parité	
  en	
  politique	
  votée	
  en	
  2000.	
  (Hatier	
  p320)	
  
-­‐	
  Caractérisez	
  l’impact	
  du	
  genre	
  dans	
  les	
  inégalités	
  d’utilisation	
  du	
  temps	
  ?	
  (Hatier	
  p390)	
  (tab	
  stat)	
  
-­‐	
  Montrez	
  l’impact	
  de	
  la	
  CSP	
  sur	
  les	
  dépenses	
  de	
  culture-­‐médias.	
  (Hachette	
  p329)	
  (graph)	
  
-­‐	
  La	
  structure	
  du	
  revenu	
  disponible	
  selon	
  le	
  niveau	
  de	
  vie	
  permet-­‐elle	
  de	
  rendre	
  compte	
  des	
  inégalités	
  de	
  
revenus	
  ?	
  (Nathan	
  p294)	
  (tab	
  stat	
  composition	
  RD	
  par	
  déciles	
  selon	
  niveau	
  de	
  vie)	
  
-­‐	
  Caractérisez	
  les	
  inégalités	
  salariales	
  que	
  le	
  document	
  met	
  en	
  évidence.	
  (Sujet	
  zéro)	
  (tab	
  stat	
  distribution	
  
salaires	
  par	
  sexe	
  et	
  déciles)	
  
	
  
Epreuve	
  composée	
  Partie	
  3	
  (A	
  partir	
  du	
  dossier	
  documentaire	
  de	
  vos	
  connaissances	
  …)	
  
-­‐	
  Montrez	
  que	
  les	
  inégalités	
  sont	
  dues	
  à	
  des	
  facteurs	
  multiples.	
  (Bordas,	
  p301)	
  
-­‐	
  Quel	
  est	
  l’impact	
  des	
  revenus	
  sur	
  les	
  pratiques	
  culturelles	
  et	
  de	
  loisirs	
  ?	
  (Belin	
  p344)	
  
-­‐	
  Comment	
  expliquer	
  les	
  inégalités	
  d’accès	
  de	
  certaines	
  pratiques	
  culturelles	
  ?	
  (Hatier	
  p396)	
  
-­‐	
  Mettez	
  en	
  évidence	
  la	
  persistance	
  d’inégalités	
  politiques	
  en	
  France	
  aujourd’hui.	
  (Hachette	
  p330)	
  
-­‐	
  Expliquez	
  les	
  inégalités	
  hommes-­‐femmes.	
  (Nathan	
  p295)	
  
-­‐	
  En	
  quoi	
  les	
  inégalités	
  peuvent-­‐elles	
  se	
  cumuler	
  ?	
  (Nathan	
  p409)	
  
	
  
	
  
Chapitre	
  13	
  :	
  Comment	
  les	
  pouvoirs	
  publics	
  peuvent-­‐ils	
  contribuer	
  à	
  la	
  justice	
  sociale	
  ?	
  
	
  
Dissertation	
  (Dossier	
  de	
  4	
  documents	
  factuels)	
  
-­‐	
  Vous	
  montrerez	
  qu’il	
  est	
  difficile	
  de	
  traduire	
  l’égalité	
  des	
  droits	
  dans	
  les	
  faits.	
  (Bordas,	
  p325)	
  
-­‐	
  Vous	
  analyserez	
  les	
  mesures	
  mises	
  en	
  œuvre	
  pour	
  réduire	
  les	
  inégalités.	
  (Bordas	
  p395)	
  
-­‐	
  Quels	
  sont	
  les	
  effets	
  de	
  la	
  fiscalité	
  sur	
  les	
  inégalités	
  sociales	
  ?	
  (Magnard	
  p328)	
  
-­‐	
  Montrez	
  comment	
  les	
  pouvoirs	
  publics	
  peuvent	
  favoriser	
  la	
  justice	
  sociale.	
  (Belin	
  p371)	
  
-­‐	
  Comment	
  les	
  pouvoirs	
  publics	
  doivent-­‐ils	
  concilier	
  la	
  recherche	
  de	
  justice	
  sociale	
  avec	
  d’autres	
  objectifs	
  ?	
  
(Hatier	
  p	
  382)	
  
-­‐	
  L’intervention	
  de	
  l’Etat	
  peut-­‐elle	
  permettre	
  d’accéder	
  à	
  l’égalité	
  hommes-­‐femmes	
  ?	
  (Hachette	
  p354)	
  
-­‐	
  Dans	
  quelle	
  mesure	
  l’action	
  des	
  pouvoirs	
  publics	
  est-­‐elle	
  efficace	
  pour	
  lutter	
  contre	
  les	
  inégalités	
  ?	
  (Nathan	
  
p315)	
  
-­‐	
  Pourquoi	
  le	
  système	
  fiscal	
  français	
  rencontre-­‐t-­‐il	
  des	
  difficultés	
  à	
  réduire	
  les	
  inégalités	
  de	
  revenus	
  ?	
  (Nathan	
  
p403)	
  
	
  
Epreuve	
  composée	
  Partie	
  1	
  (Questions	
  de	
  cours	
  sans	
  document)	
  
-­‐	
  Comment	
  les	
  services	
  collectifs	
  permettent-­‐ils	
  de	
  contribuer	
  à	
  la	
  justice	
  sociale	
  ?	
  (Bordas,	
  p326)	
  
-­‐	
  Quelles	
  sont	
  les	
  différentes	
  approches	
  de	
  la	
  justice	
  sociale	
  ?	
  (Bordas,	
  p326)	
  



-­‐	
  En	
  quoi	
  la	
  fiscalité	
  contribue-­‐t-­‐elle	
  à	
  la	
  justice	
  sociale	
  ?	
  (Bordas,	
  p397)	
  
-­‐	
  Les	
  concepts	
  d’équité	
  et	
  d’égalité	
  sont-­‐ils	
  synonymes	
  ?	
  (Bordas	
  p399)	
  
-­‐	
  Quelles	
  sont	
  les	
  différentes	
  conceptions	
  de	
  l’égalité	
  que	
  l’on	
  peut	
  distinguer	
  ?	
  (Belin	
  p370)	
  
-­‐	
  Présentez	
  les	
  différents	
  modes	
  de	
  financement	
  des	
  modèles	
  de	
  protection	
  sociale	
  des	
  pays	
  développés	
  et	
  leur	
  
évolution.	
  (Belin	
  p370)	
  
-­‐	
  Comment	
  peut-­‐on	
  justifier	
  l’existence	
  de	
  services	
  collectifs	
  pour	
  lutter	
  contre	
  les	
  inégalités	
  ?	
  (Hatier	
  p320)	
  
-­‐	
  Peut-­‐on	
  opposer	
  les	
  notions	
  «	
  d’égalité	
  »	
  et	
  «	
  d’équité	
  »	
  ?	
  (Hatier	
  p388)	
  
-­‐	
  En	
  quoi	
  la	
  redistribution	
  consiste-­‐t-­‐elle	
  ?	
  (Hachette	
  p355)	
  
-­‐	
  Présentez	
  2	
  difficultés	
  auxquelles	
  se	
  heurte	
  l’application	
  du	
  principe	
  méritocratique.	
  (Hachette	
  p355)	
  
-­‐	
  Quels	
  sont	
  les	
  moyens	
  des	
  pouvoirs	
  publics	
  pour	
  réduire	
  les	
  inégalités	
  de	
  revenus	
  ?	
  (Nathan	
  p316)	
  
-­‐	
  En	
  quoi	
  l’assistance	
  sociale	
  se	
  distingue-­‐t-­‐elle	
  de	
  l’assurance	
  sociale	
  ?	
  (Nathan	
  p316)	
  
-­‐	
  Présentez	
  deux	
  moyens	
  par	
  lesquels	
  les	
  pouvoirs	
  publics	
  peuvent	
  contribuer	
  à	
  la	
  justice	
  sociale.	
  (Sujet	
  zéro)	
  
	
  
Epreuve	
  composée	
  Partie	
  2	
  (Après	
  avoir	
  présenté	
  le	
  document,	
  vous…)	
  	
  
-­‐	
  Montrez	
  que	
  l’action	
  des	
  pouvoirs	
  publics	
  pour	
  contribuer	
  à	
  la	
  justice	
  sociale	
  peut	
  se	
  traduire	
  par	
  un	
  risque	
  
de	
  désincitation.	
  (Bordas,	
  p326)	
  (tab	
  stat	
  IR,	
  CS	
  et	
  taux	
  de	
  chô	
  pays	
  OCDE)	
  
-­‐	
  En	
  quoi	
  la	
  redistribution	
  contribue	
  à	
  la	
  justice	
  sociale	
  ?	
  (Bordas	
  p400)	
  (graph	
  répart°	
  niveaux	
  de	
  vie	
  
avant/après	
  redistrib)	
  	
  
-­‐	
  Montrez	
  les	
  mécanismes	
  de	
  solidarité	
  mis	
  en	
  évidence	
  par	
  le	
  document.	
  (Belin	
  p368)	
  (graph	
  évolution	
  
bénéficiaires	
  minima)	
  
-­‐	
  Caractérisez	
  les	
  modes	
  de	
  financement	
  des	
  dépenses	
  de	
  santé	
  en	
  2009	
  dans	
  les	
  différents	
  pays.	
  (Belin	
  p370)	
  
(graph	
  répart°	
  modes	
  fi	
  dépenses	
  santé)	
  
-­‐	
  Le	
  document	
  permet-­‐il	
  d’illustrer	
  les	
  progrès	
  de	
  l’égalité	
  des	
  chances	
  ?	
  (Hachette	
  p355)	
  (graph	
  évolution	
  %	
  
étudiants	
  boursiers)	
  
-­‐	
  Les	
  prélèvements	
  obligatoires	
  permettent-­‐ils	
  de	
  réduire	
  les	
  inégalités	
  de	
  revenus	
  ?	
  (Nathan	
  p316)	
  (graph	
  
landais-­‐piketty-­‐saez)	
  
-­‐	
  Interrogez-­‐vous	
  sur	
  la	
  contribution	
  de	
  la	
  fiscalité	
  indirecte	
  à	
  la	
  justice	
  sociales	
  en	
  France.	
  (Nathan	
  p416)	
  (tab	
  
stat	
  part	
  fiscalité	
  indirecte	
  par	
  décile	
  de	
  niveau	
  de	
  vie)	
  
	
  
	
  
Epreuve	
  composée	
  Partie	
  3	
  (A	
  partir	
  du	
  dossier	
  documentaire	
  de	
  vos	
  connaissances	
  …)	
  
-­‐	
  Comment	
  la	
  protection	
  sociale	
  permet	
  de	
  contribuer	
  à	
  la	
  justice	
  sociale	
  ?	
  (Bordas	
  p	
  326)	
  
-­‐	
  Quels	
  sont	
  les	
  effets	
  du	
  concept	
  d’équité	
  ?	
  (Bordas	
  p398)	
  
-­‐	
  Dans	
  quelle	
  mesure	
  la	
  politique	
  familiale	
  est-­‐elle	
  redistributive	
  ?	
  (Belin	
  p370)	
  
-­‐	
  La	
  redistribution	
  réduit-­‐elle	
  les	
  inégalités	
  de	
  niveau	
  de	
  vie	
  ?	
  (Hatier	
  p320)	
  
-­‐	
  Vous	
  discuterez	
  des	
  effets	
  d’une	
  protection	
  sociale	
  élevée	
  sur	
  la	
  croissance.	
  (Hachette	
  p355)	
  
-­‐	
  Quelles	
  sont	
  les	
  limites	
  rencontrées	
  par	
  ‘action	
  des	
  pouvoirs	
  publics	
  pour	
  favoriser	
  l’égalité	
  des	
  chances	
  à	
  
l’école	
  ?	
  (Nathan	
  p317)	
  
	
  
Chapitre	
  14	
  :	
  Comment	
  s’articule	
  marché	
  du	
  travail	
  et	
  organisation	
  dans	
  la	
  gestion	
  de	
  l’emploi	
  ?	
  
	
  
Dissertation	
  (Dossier	
  de	
  4	
  documents	
  factuels)	
  
-­‐	
  Quels	
  sont	
  les	
  effets	
  de	
  l’instauration	
  d’un	
  salaire	
  minimum	
  ?	
  (Bordas	
  p346)	
  
-­‐	
  Quels	
  sont	
  les	
  effets	
  de	
  la	
  flexibilité	
  du	
  travail	
  sur	
  l’emploi	
  ?	
  (Bordas	
  p394)	
  
-­‐	
  Vous	
  analyserez	
  l’ampleur	
  de	
  la	
  segmentation	
  du	
  marché	
  du	
  travail	
  en	
  France.	
  (Magnard	
  p352)	
  
-­‐	
  Dans	
  quelle	
  mesure	
  le	
  niveau	
  des	
  salaires	
  reflète-­‐t-­‐il	
  la	
  Loi	
  de	
  l’offre	
  et	
  de	
  la	
  demande	
  ?	
  (Belin	
  p395)	
  
-­‐	
  En	
  quoi	
  peut-­‐on	
  parler	
  d’une	
  segmentation	
  du	
  marché	
  du	
  travail	
  ?	
  (Belin	
  p397)	
  
-­‐	
  Le	
  marché	
  du	
  travail	
  est-­‐il	
  concurrentiel	
  ?	
  (Hatier	
  p344)	
  
-­‐	
  Vous	
  montrerez	
  que	
  le	
  salaire	
  n’a	
  pas	
  qu’une	
  dimension	
  économique.	
  (Hachette	
  p380)	
  
-­‐	
  Quelles	
  transformations	
  du	
  marché	
  du	
  travail	
  les	
  investissements	
  en	
  capital	
  humain	
  entraînent-­‐ils	
  ?	
  (Nathan	
  
p337)	
  
	
  
Epreuve	
  composée	
  Partie	
  1	
  (Questions	
  de	
  cours	
  sans	
  document)	
  
-­‐	
  Présentez	
  la	
  théorie	
  du	
  salaire	
  d’efficience.	
  (Bordas	
  p	
  345)	
  
-­‐	
  Quelle	
  est	
  l’utilité	
  d’un	
  contrat	
  de	
  travail	
  ?	
  (Bordas	
  p	
  345)	
  
-­‐	
  Présentez	
  l’analyse	
  néoclassique	
  du	
  fonctionnement	
  du	
  marché	
  du	
  travail.	
  (Bordas	
  p398)	
  
-­‐	
  Comment	
  la	
  théorie	
  du	
  salaire	
  d’efficience	
  illustre-­‐t-­‐elle	
  l’existence	
  d’asymétries	
  d’informations	
  sur	
  le	
  
marché	
  du	
  travail	
  ?	
  (Belin	
  p396)	
  



-­‐	
  Présentez	
  l’analyse	
  néoclassique	
  du	
  marché	
  du	
  travail.	
  (Belin	
  p396)	
  
-­‐	
  Qu’est-­‐ce	
  que	
  le	
  salaire	
  d’efficience	
  ?	
  (Hatier	
  p396)	
  
-­‐	
  En	
  quoi	
  le	
  marché	
  du	
  travail	
  est-­‐il	
  un	
  marché	
  de	
  CPP	
  ?	
  (Hachette	
  p381)	
  
-­‐	
  Quelles	
  sont	
  les	
  conséquences	
  des	
  asymétries	
  d’information	
  sur	
  le	
  fonctionnement	
  du	
  marché	
  du	
  travail	
  ?	
  
(Hachette	
  p381)	
  
-­‐	
  Quels	
  avantages	
  les	
  entreprises	
  tirent-­‐elles	
  de	
  la	
  segmentation	
  du	
  facteur	
  travail	
  ?	
  (Nathan	
  p338)	
  
-­‐	
  Dans	
  quelle	
  mesure	
  les	
  modes	
  de	
  fixation	
  du	
  niveau	
  des	
  salaires	
  déterminent-­‐ils	
  le	
  niveau	
  de	
  l’emploi	
  ?	
  
(Nathan	
  p338)	
  
	
  
Epreuve	
  composée	
  Partie	
  2	
  (Après	
  avoir	
  présenté	
  le	
  document,	
  vous…)	
  	
  
-­‐	
  Montrez	
  que	
  les	
  relations	
  sociales	
  au	
  sein	
  des	
  entreprises	
  font	
  l’objet	
  d’une	
  coopération.	
  (Bordas	
  p	
  345)	
  (tab	
  
stat	
  nb	
  négociations	
  et	
  grèves	
  selon	
  taille	
  entreprise)	
  
-­‐	
  Analysez	
  les	
  évolutions	
  du	
  marché	
  du	
  travail	
  depuis	
  les	
  années	
  1980.	
  (Bordas	
  p399)	
  (tab	
  stat	
  différents	
  
indicateurs	
  chômage	
  et	
  emploi)	
  
-­‐	
  En	
  quoi	
  le	
  document	
  permet	
  de	
  comparer	
  l’organisation	
  des	
  marchés	
  du	
  travail	
  dans	
  les	
  pays	
  développés.	
  
(Belin	
  p396)	
  (tab	
  stat	
  taux	
  de	
  syndicalisation	
  16	
  pays)	
  
-­‐	
  Le	
  sexe	
  est-­‐il	
  un	
  déterminant	
  de	
  la	
  situation	
  dans	
  l’emploi	
  ?	
  (Hatier	
  p392)	
  
-­‐	
  Montrez	
  que	
  le	
  marché	
  du	
  travail	
  est	
  segmenté.	
  (Hachette	
  p381)	
  (tab	
  stat)	
  
-­‐	
  Après	
  avoir	
  expliqué	
  quels	
  salariés	
  sont	
  concernés	
  par	
  l’intérim,	
  vous	
  analyserez	
  les	
  avantages	
  pour	
  
l’entreprise	
  de	
  ce	
  type	
  de	
  gestion	
  de	
  l’emploi.	
  (Nathan	
  p338)	
  (Texte	
  Insee)	
  
	
  
Epreuve	
  composée	
  Partie	
  3	
  (A	
  partir	
  du	
  dossier	
  documentaire	
  de	
  vos	
  connaissances	
  …)	
  
-­‐	
  Comment	
  se	
  fixe	
  le	
  niveau	
  des	
  salaires	
  ?	
  (Bordas	
  p	
  345)	
  
-­‐	
  Le	
  marché	
  du	
  travail	
  américain	
  fonctionne-­‐t-­‐il	
  comme	
  un	
  marché	
  néoclassique	
  ?	
  (Magnard	
  p337)	
  
-­‐	
  Dans	
  quelle	
  mesure	
  la	
  relation	
  salariale	
  s’est-­‐elle	
  institutionnalisée	
  ?	
  (Belin	
  p394)	
  
-­‐	
  Comment	
  se	
  détermine	
  le	
  niveau	
  du	
  salaire	
  ?	
  (Belin	
  p396)	
  
-­‐	
  Comment	
  se	
  construit	
  l’institutionnalisation	
  de	
  la	
  relation	
  salariale	
  ?	
  (Hatier	
  p400)	
  
-­‐	
  Montrez	
  que	
  les	
  négociations	
  collectives	
  agissent	
  sur	
  la	
  gestion	
  de	
  l’emploi.	
  (Hachette	
  p382)	
  
-­‐	
  Les	
  organisations	
  et	
  le	
  marché	
  du	
  travail	
  sont-­‐ils	
  dans	
  un	
  rapport	
  de	
  complémentarité	
  ou	
  d’opposition	
  ?	
  
(Nathan	
  p339)	
  
	
  
Chapitre	
  15	
  :	
  Quelles	
  politiques	
  pour	
  l’emploi	
  ?	
  
	
  
Dissertation	
  (Dossier	
  de	
  4	
  documents	
  factuels)	
  
-­‐	
  Quel	
  est	
  le	
  rôle	
  du	
  travail	
  dans	
  l’intégration	
  sociale	
  aujourd’hui	
  ?	
  (Bordas	
  p368)	
  
-­‐	
  Comment	
  la	
  flexibilisation	
  du	
  marché	
  du	
  travail	
  affecte-­‐t-­‐elle	
  le	
  rôle	
  social	
  joué	
  par	
  le	
  travail	
  ?	
  (Magnard	
  
p376)	
  
-­‐	
  Montrez	
  que	
  la	
  divergence	
  des	
  politiques	
  d’emplois	
  reflète	
  des	
  conceptions	
  divergentes	
  de	
  l’origine	
  du	
  
chômage.	
  (Belin	
  p423)	
  
-­‐	
  Comment	
  expliquer	
  la	
  persistance	
  du	
  chômage	
  en	
  France	
  ?	
  (Hatier	
  p384)	
  
-­‐	
  Comment	
  les	
  politiques	
  de	
  l’emploi	
  favorisent-­‐elles	
  l’intégration	
  par	
  le	
  travail	
  ?	
  (Hachette	
  p406)	
  
-­‐	
  Montrez	
  que	
  l’intervention	
  de	
  l’Etat	
  peut	
  avoir	
  un	
  impact	
  sur	
  le	
  niveau	
  du	
  chômage.	
  (Nathan	
  p361)	
  
	
  
	
  
Epreuve	
  composée	
  Partie	
  1	
  (Questions	
  de	
  cours	
  sans	
  document)	
  
-­‐	
  Quel	
  est	
  le	
  rôle	
  de	
  la	
  demande	
  effective	
  chez	
  Keynes	
  ?	
  (Bordas	
  p368)	
  
-­‐	
  Quelles	
  sont	
  les	
  transformations	
  de	
  l’emploi	
  aujourd’hui	
  ?	
  (Bordas	
  p368)	
  
-­‐	
  Qu’entend-­‐on	
  par	
  «	
  flexibilité	
  du	
  travail	
  »	
  ?	
  (Belin	
  p422)	
  
-­‐	
  Caractérisez	
  le	
  chômage	
  structurel.	
  (Belin	
  p422)	
  
-­‐	
  Le	
  taux	
  de	
  chômage	
  ne	
  dépend-­‐il	
  que	
  du	
  temps	
  qui	
  s’est	
  écoulé	
  depuis	
  la	
  sortie	
  de	
  la	
  formation	
  initiale	
  ?	
  
(Hatier	
  p366)	
  (tab	
  stat	
  évol	
  taux	
  de	
  chô	
  selon	
  sexe	
  et	
  niveau	
  de	
  formation	
  initiale)	
  
-­‐	
  Qu’est-­‐ce	
  que	
  le	
  chômage	
  classique	
  ?	
  (Hachette	
  p407)	
  
-­‐	
  Quel	
  est	
  le	
  rôle	
  du	
  travail	
  dans	
  l’intégration	
  sociale	
  ?	
  (Hachette	
  p407)	
  
-­‐	
  Expliquez	
  e	
  qui	
  caractérise	
  le	
  chômage	
  structurel.	
  (Nathan	
  p362)	
  
-­‐	
  Quelles	
  sont	
  les	
  composantes	
  de	
  la	
  demande	
  globale	
  ?	
  (Nathan	
  p362)	
  
-­‐	
  Quelles	
  types	
  de	
  politiques	
  convient-­‐il	
  de	
  mener	
  en	
  présence	
  de	
  chômage	
  keynésien	
  ?	
  (Nathan	
  p408)	
  
	
  
Epreuve	
  composée	
  Partie	
  2	
  (Après	
  avoir	
  présenté	
  le	
  document,	
  vous…)	
  	
  



-­‐	
  Comment	
  a	
  évolué	
  le	
  niveau	
  des	
  qualifications	
  ?	
  (Bordas	
  p368)	
  (tab	
  stat	
  niveaux	
  diplôme	
  sur	
  3	
  générations)	
  
-­‐	
  Analysez	
  les	
  caractéristiques	
  du	
  chômage	
  et	
  leurs	
  implications.	
  (Belin	
  p422)	
  (tab	
  stat	
  durée	
  et	
  circonstances	
  
d’entrée	
  chômage)	
  
-­‐	
  Comparez	
  l’évolution	
  des	
  taux	
  d’emploi	
  au	
  cours	
  de	
  la	
  vie	
  active	
  en	
  France	
  et	
  en	
  Allemagne.	
  (Hachette	
  p407)	
  
(graph)	
  
-­‐	
  Montrez	
  que	
  la	
  pauvreté	
  est	
  dépendante	
  de	
  la	
  configuration	
  familiale	
  des	
  individus.	
  (Nathan	
  p362)	
  (graph)	
  
	
  
Epreuve	
  composée	
  Partie	
  3	
  (A	
  partir	
  du	
  dossier	
  documentaire	
  de	
  vos	
  connaissances	
  …)	
  
-­‐	
  Quels	
  sont	
  les	
  effets	
  pervers	
  de	
  la	
  flexibilité	
  dans	
  la	
  lutte	
  contre	
  le	
  chômage	
  ?	
  (Bordas	
  p368)	
  
-­‐	
  Etudiez	
  les	
  politiques	
  mises	
  en	
  œuvre	
  par	
  les	
  pays	
  avancés	
  afin	
  de	
  lutter	
  contre	
  le	
  chômage.	
  (Magnard	
  p385)	
  
-­‐	
  Quels	
  sont	
  les	
  effets	
  des	
  politiques	
  publiques	
  d’aide	
  à	
  l’emploi	
  sur	
  le	
  chômage	
  et	
  la	
  précarité	
  ?	
  (Belin	
  p422)	
  
-­‐	
  Quels	
  sont	
  les	
  objectifs	
  d’une	
  politique	
  de	
  flexicurité	
  ?	
  (Hachette	
  p408)	
  
-­‐	
  En	
  quoi	
  certaines	
  évolutions	
  de	
  l’emploi	
  semblent-­‐elles	
  remettre	
  en	
  cause	
  l’intégration	
  sociale	
  par	
  le	
  travail	
  ?	
  
(Nathan	
  p363)	
  
-­‐	
  Comment	
  l’allègement	
  du	
  coût	
  du	
  travail	
  pourrait-­‐il	
  réduire	
  le	
  chômage	
  ?	
  (Nathan	
  p413)	
  


